Introduction to Taxation with Professor Turnbull

Outline Prepared by Melanie Rempel

How To Do Well In This Course:

- understand & use the terminology

  - learn definitions

- apply rules of statutory interpretation

- articulate principles from the cases

- identify the issues

  - identify tax implications

- apply the law to solve the problem

- calculate simple tax amounts

- communicate your thinking, both orally and in writing

  - in a well-reasoned & well-organised way

Note the 'Course Objectives' listed in the syllabus.


THE LOGIC, POLICY & POLITICS OF TAX LAW

What is Tax? (see p.12 of text)

- compulsory

- paid by individuals in the form of money/wealth to the government

- not in exchange for a specific good/benefit/service

- Eisenstein's definition:  "coerced contributions for the general good"
- transfer from private to public sphere
  - private property for the public good
  - in our liberal society, we place a high value on individualism, and on the individual's right to do whatever he wants with his property

  - taxes are like a bridge; an alternator which converts private money into public resources, allowing the state engine to run
  - much of the debate surrounding taxation revolves around this tension between private & public

ex. privatisation of government services


- some people promote a minimalist state; protection from government interference; 'laissez-faire'; protection of private property; notion of formal equality


- others favour a welfare state; make a meaningful choice; equality of opportunity/substantive equality; market not a satisfactory mechanism...state should take a more active role.


- more radical approaches (like Marxism) just want to get rid of the whole market system/capitalist society and start over.

  - the tax system generally reflects the values of the society which puts it into place.  Indicates who the balance favours ~ private or public.

- the essence of taxation is class politics

TAX TERMINOLOGY

Five Important Considerations:

1.  Tax Base:  the thing upon which tax is levied
  ex. transaction, income, wealth, property

2.  Tax Unit:  individual responsible for paying taxes
  ex. person; family; couple (the American approach)

3.  Tax Rate:  Number/percentage applied to tax base to determine amount owing
4.  Tax Period:  time over which tax base is measured
  - usually one year

5.  Tax Administration/Collection:  the mechanics of collection
Possible Tax Bases:
  - income







- gifts

  - property







- excise taxes

  - capital







- head taxes

  - services

- an ideal tax system would tax everything; would be as broad/comprehensive as possible.

- the primary tax base in Canada is income
  - forms 41% of the government's revenue
  - the crux of income tax law is defining 'income'

- income, in the Canadian context, includes employment, business, property & capital.

- you could also tax spending ~ consumption taxes
  - forms 12% of the government's revenue

  ex. GST; excise taxes ('luxury' goods:  cigarettes, gasoline, cars)

- or you could tax a person's wealth.  In Canada, however, we do not have estate taxes (we are 1 of the 3 remaining industrialised countries which does not)
  - forms 11% of the government's revenue, if you include property taxes

Tax Rates (see p.18 of text)

- statutory rate structure:  s. 117 (p.736 of the Act)

- Marginal Tax Rate:  the tax rate which applies to the next dollar you earn
  - need to look at which bracket you fit into ~ 0%, 16%, 22%, 26% or 29%
- Average Tax Rate:  fraction of income paid as tax
  - not set-out in the statute

- Effective Tax Rate:  looks at percentage of tax paid in relation to total income (not just taxable income)
  - generally lower than the average tax rate
Example:  Total income of $100,000, taxable income of $80,000:

  $0


to $7300 
x 0%

=          $0

  $7301

to $30,754
x 16%
=    $3752

  $30,755
to $61,509
x 22%
=    $6766

  $61,510
to $80,000
x 26%
=    $4807

 








Total = $15,325

- Marginal Tax Rate = 26%

- Average Tax Rate:  $15,325 $80,000 = 19%

- Effective Tax Rate:  $15,325 $100,000 = 15%

- Progressive:  as income rises, higher percent is paid in taxes (look at the way tax brackets increase)
  - our income tax system is progressive
- Proportional:  percentage of tax paid is fixed (not dependent on income or any other factor)
- Regressive:  pay a lower percentage as income rises
NOTE:  High income earners will always pay more than low income earners, but will pay the most under a progressive tax system.
NOTE:  Consumption taxes tend to be regressive.

  ex. Lower income earners will pay GST on essentially everything they buy, whereas higher income earners will not.

- overall, the Canadian tax system is proportional.


CARDINAL PRINCIPLES OF TAX LAW

Three Evaluative Principles
1.  Equity ~ horizontal & vertical
  Horizontal:  people in the same circumstances pay the same amount in taxes
  Vertical:  people in different circumstances should pay appropriately different amounts in taxes (but not necessarily a greater proportion).
  - 1971 Carter Commission:  taxes should reflect people's ability to pay
  - John Stuart Mill said 'ability to pay' meant equality of sacrifice.  We should all feel the pain of paying taxes.

2.  Neutrality:  taxes should not affect the way taxpayers act.  Life decisions should not be determined by their tax implications.
3.  Simplicity:  law should be clear & easy to understand.

INTRODUCTORY EXERCISE:  A FRAMEWORK FOR THE STUDY OF TAX LAW

Consider the circumstances of the following six individuals.  Answer as best you can the questions below about how they would be treated under the current tax system, and how they should be treated under an ideal tax system:

A has just landed a first job as a graphic artist at a salary of $32,000, after attending a graphic arts program at community college for three years.  While at school, A had no income but spent $12,000 on tuition and materials.

B owns a small business that generated a $32,000 profit in 2001 after three years of start-up losses.  The accumulated losses of the business for the first three years total $12,000.

C inherited $1 million and the ancestral home some time ago.  The inheritance was invested and generates $32,000 of investment income for C per annum.

D won $1 million in last week's 649 lottery.  D has spent $1200 on lottery tickets in the past 6 months.

E is a single parent who earns a salary of $80,000 and sends one child to day care.  The day care costs $12,000 per year.

F earns $80,000 per year as the sole earner in a two-adult household.  The other adult stays home to care for their one child.

G received $80,000 in capital gains (profits on the sale of property) in 2001.

Questions:

1.  What tax treatment of these individuals would in your view best achieve the tax policy objectives of horizontal equity, vertical equity and neutrality?

A:  Ability to pay should be the gauge.  Specifically:

  A:  Neutrality dictates that A shouldn't be penalised for attending school instead of earning income.  Tuition will get major credits.  Would move down to the 16% bracket.

  B:  Neutrality dictates that B should not be penalised for losses incurred in business.  Could carry them forward & move down to 16% bracket.  Horizontal equity dictates that A & B should be treated the same.

  C:  Will pay at rate of 22%.  Wealth is not taxed, but income is.  The nature of C's income should not qualify him for the same treatment as A & B.

  D:  Tax-free windfall.  The income would be taxable if it were invested.  Again, horizontal equity should not come into play with C & D, given the nature of their investments.

  E:  Tax credits for child care costs still don't put E in the same position as F under our current system, even though they are on the same plane in terms of horizontal equity.  Neutrality comes into play here.  26% bracket.

  F:  Can't claim child care deductions.

  G:  50% exemption, then taxed at marginal rate.

2.  Based on what you have read so far, what are some of the actual differences in the tax treatment of these individuals under the current system?

A:  We don't have perfect vertical or horizontal equity:
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3.  How progressive is our current tax system in its relative treatment of these taxpayers?

A:  Progressivity is affected by source of income.  Vertical equity is diluted.

4.  Presently our federal income tax rates are as follows:

  - 16% on income up to $30,754

  - 22% on income from $30,755 to $61,509

  - 26% from $61,510 to $100,000

  - 29% on income over $100,000
  Would it significantly improve the simplicity of the system to substitute a single flat rate that would apply to all incomes?

A:  Yes, but it would negatively affect equity, which to my mind is the most important of all three policy objectives.


How the Government Generates Revenue Through Taxes
Revenue = Base x Rate
- horizontal equity goes to the base
  - all people earning the same amount of money should pay the same rate

- vertical equity goes toward the rate
  - those who earn more should pay more

- in income tax, we employ progressive rates:  will pay a higher proportion of income in taxes as income rises
- the biggest arguments in favour of flat taxes are that neutrality and simplicity will increase
  - however, progressivity would be totally destroyed
WHY DO WE HAVE TAXES?

- raise government revenues so it can afford its services/policies
- redistribution of wealth
- promotion of certain choices/behaviours

- economic stimulus
- correct market failures (pp.55-58)

  - pure market theory:  actors free to choose will use supply and demand to reach ideal Pareto optimum

  - of course, there is no truly 'free' market

  - many times the market fails; cannot reach Pareto efficient

  ex. public goods like national defence, highways (p.54)

  ex. positive & negative externalities like education & pollution (p.54)

  ex. asymmetric information, where one side knows more than the other (p.55)

  ex. other factors besides self-interest weigh on people's minds; economics defeated by psychology

TAX LAW:  A HISTORICAL BACKGROUND

- income tax first implemented in Canada in 1917, to finance the war effort
  - only meant to be a temporary tax
- tax law is simply tax policy written in rule form

- tax policy comes down in many forms (particularly in the budget)

- we're in the middle of the pack, in terms of highest marginal rates among OECD countries.

- some taxes go toward debt-reduction.  We have been deficit-free for five years at the federal level.  Debt-to-GDP ratio now about ~50% (at its peak, this ratio was over 70%).
- the government is spending less now, in relation to GDP, than ever since 1948-'49 (but needs to support way more programs ~ EI, CPP & Medicare).

TAX EXPENDITURES

- deviations from the benchmark tax system
- defined on pp.23-24:  “their purpose is to provide implicit subsidies to taxpayers to encourage them to engage in particular types of activities or to provide particular taxpayers with a transfer payment.”
- result in a loss of revenue (becomes money which is not taxed)

  - they are policy measures which reduce government revenue

- not measured against 'cardinal principles' of equity, neutrality & simplicity.

- instead, use budgetary criteria:

  - Ask, “What were the government's objectives?  Were they met?  Is there a better way that these objectives could be met?  Is it creating any unfairness/undesirable distortions?”

- Canada now publishes a list of tax expenditures & how much they cost the government.


A FEW TECHNICAL CONCEPTS...

1.  Time Value of Money
- central to tax planning; makes deferral a worthwhile objective
  - tax planning aims at putting tax off until later

- future value explained at pp.37-38 of the text:

  “The fundamental idea underlying the time value of money is that the value of capital increases over time because it can be used to earn additional income...[assuming], of course [that] the rate of return is greater than the rate of inflation.”

  “the ‘rule of 72’ is a straightforward method of arriving at an approximate amount.  This rule states that money will approximately double at a given rate of interest over the number of years obtained by dividing 72 by the interest rate.”
- taking money today & investing it is better than getting that same amount of money sometime in the future

- this is due to compound interest (allows money to grow more quickly)

ex. think of RRSPs (see example on p.39 of the text)

- Two Aspects:  present & future value
- given the amount & the interest rate it will be invested at, you can calculate how much it will be worth in the future

- the present & future value of money are what make tax deferral so desirable

2.  Inflation
- affects the value of money
- income tax rates are indexed to inflation (tax rates rise at the pace of inflation)
  - formerly, tax brackets were deindexed, much to the chagrin of the taxpayer...these protests have been heard & brackets were fully reindexed by 2000 budget.

- our measure of inflation:  Consumer Price Index (CPI)
- rate currently sitting at between 1-3%
- inflation means that real value of money is decreasing, because the cost of goods & services are increasing
3.  Tax Incidence (p.44)

- many times actual incidence does not look at all like legal incidence

i.e. when a tax is imposed, whose real income is reduced by the tax?
- this is not necessarily relevant to income tax, but know that for other taxes it is not easy to determine who is truly paying the tax.
ex. corporations may pass taxes on to workers or consumers.


HOW THE TAX ACT IS STRUCTURED

1.  Who is taxable?

2.  What is taxable?

3.  At what rate is tax payable?

4.  At what time is tax payable?

5.  How to administer & ensure compliance

Statutory Interpretation
- no common law basis for taxation; only originates by statute
- authorised by Constitution:  ss.91(3) & 92(2)
- tax laws must be read in light of the Charter
  - most common:  ss.8 (search & seizure) & 15 (equality)

  - recent s.15 challenge:  Rosenberg (2000, Ont. CA, p.798)


- successfully challenged the definition of ‘spouse’


  - will now include same-sex couples (see new definition on p.798)

- also consider Official Languages Act (p.795):  both French & English versions are authoritative, however, in cases of ambiguity one may be used to enlighten the other.

- must also be read in conjunction with Interpretation Act (p.794)

  - s.12 says all acts must be given a fair, large & liberal construction

  - however, hasn't really been used by the courts

The Old View
- tax statutes should be read strictly.  

- if there was any ambiguity, problems were resolved in favour of the taxpayer (except in cases involving deductions, which were resolved in favour of the Crown)
- treated like penal law, in a sense

- used even up to 1985 SCC case of Johns-Manville
Stubart Investments v. the Queen (p.811)
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- taxpayer wanted to use Grover's losses to offset taxes of profitable company.  Done for a period of 3 years.

- CCRA didn't accept that profits of Stubart belonged to Grover, despite the legal transfer & agency agreement.  Not a sham transaction.

- in law, income of the business belonged to Grover

- Act allowed offsetting of income with losses from previous years

Issue:  “whether a corporate taxpayer, with the avowed purpose of reducing its taxes, could establish an arrangement whereby future profits would be routed through a sister subsidiary in order to avail itself of the latter corporation’s loss carry-forward.” (p.811)
- Court felt that this was a totally valid arrangement; it was irrelevant that the main reason for doing so was tax avoidance.
- provisions should be interpreted in light of the 'object & spirit' of the provision, as well as that of the whole Act, Estey J. said.
  - felt it would discourage avoidance in the long run

Antosko v. the Queen (p.785)

- smaller amount of interest subject to tax (since transferor was exempt from tax, due to explicit Tax Act provisions)

- SCC sided with the taxpayer; when the words of the statute are clear, their plain meaning should be utilised
- seem to move away from 'object & spirit', to a more purposive approach
- what they are saying is that where wording is clear, plain meaning should be used

- only in cases of ambiguity should purposive approach apply

Corp. Notre Dame de Bon Secours v. Québec
- tax exemption applied to 11% of the retirement home

Issue:  whether exemption could be applied to the whole home

- language was ambiguous.  Needed to use purposive approach.

  - look to purpose of the Act:  raising revenue

  - purpose of the exemption:  social policy objectives

- recognised that tax statutes are tools of social policy, not only for raising revenue any more.
- sided with taxpayer:  home was 100% tax exempt.

One final point:  there is a residual presumption in favour of the taxpayer.  But it should be a last resort.

Friesen also decided that year:  pendulum swung back towards plain meaning.

Five Principles to Extract from the Cases:

1.  Tax Act should be interpreted by using the same methods of statutory interpretation as any other statute.
2.  Strict or liberal approach may be used, depending on purpose of provision.

3.  Primary purpose:  raising revenue.  Secondary purpose:  economic & social policy objectives.  Both may be taken into account.
4.  Where language is unambiguous, then purpose become irrelevant to interpretation (cannot be used to contradict plain meaning).
5.  If, after going through all these steps, ambiguity remains, it should be resolved in favour of the taxpayer (residual; should only be used rarely).

One Further Aid in Statutory Interpretation:  Look at the Act Itself!

- definitions contained in s.248 of the Tax Act
- divisional definitions:  only apply to one part of the Act.  Much more technical.

- sectional definitions:  only apply to a particular section of the Act.
Three Purposes:
1.  Tell us what a word means (ex. 'motor vehicle')

2.  May instead tell us what a term includes
  - tend to enlarge the meaning of the term

  ex. 'taxpayer'

3.  Definitions may deem certain things to be certain ways (usually counter-intuitive)

  ex. 'related' ~ brothers & sisters deemed not to be related


TAX AVOIDANCE

Example:
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Qu:  what do you report?  My answer ~ all that's due ($50,000)

  Salary:  100% of the class would report

  Rent:  1/3 would report

  Tips:  most would declare some # over $7500

  Trip:  1/3 would report

Some Definitions
Tax Evasion:  criminal; wilful deceit; usually due to not reporting or hiding
Tax Planning/Minimisation:  always legal; availing yourself of technical provisions of the Act.

Tax Avoidance:  floats along the spectrum; depends on the attitude of the Court.
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R. v. Branch:  acquitted of tax evasion.  No mens rea.

R. v. Hummel:  if you & CCRA characterise a transaction differently, does not constitute mens rea for tax evasion.  Needn't see eye-to-eye; must have other evidence.

Duke of Westminster
- starting point in study of tax avoidance

- taxpayer is allowed to structure his affairs in order to minimise tax
- Denning says:  valid, but not a virtue
Examples of Tax Avoidance
- see p.805:

  - splitting income; shifting income; shifting losses; deferring taxes; sheltering income in ‘tax havens’; converting income into capital or other form that is not taxable; converting capital expenses into current expenses; utilising valuation techniques which offer maximum advantage to the taxpayer; rollovers; structuring commercial transactions in a manner designed to minimise the tax burden.
- always open attempts to minimise tax
- not hiding (as in tax evasion)
Stubart
- accepted idea of 'sham' transactions from UK case of Snook (defined on p.823:  “acts done or documents executed by the parties to the ‘sham’ which are intended by them to give to third parties or to the court the appearance of creating between the parties legal rights and obligations different from the actual legal rights and obligations (if any) which the parties intend to create.”)

- 'ineffective transactions' are also a way courts may overlook certain incomplete transactions (act as though they never occurred...also see p.823:  “taxpayers are taxed on what they do and not what they intend to do.”)
- in Stubart, the court emphasised that the transactions were totally legitimate
- furthermore, Stubart rejected the 'business purposes' test
  - see p.819 of text (“I would therefore reject the proposition that a transaction may be disregarded for tax purposes solely on the basis that it was entered into by a taxpayer without independent or bona fide business purposes.”); also discussed on p.826 (“Under the business purpose test, transactions lacking a non-tax purpose are disregarded...Its rejection as a general principle ultimately led to the introduction of the general anti-avoidance rule...”)
  - this test originated in the US
- 'substance over form':  a type of 'smell' test (see p.824:  “permits a court to disregard the terminology employed by the parties.  The court must ascertain the true legal consequences of the transactions according to the relevant documents and any relevant facts and circumstances...Some courts have given the doctrine...a broader meaning:  that the tax consequences of a transaction should be determined based on the economic substance of a transaction rather than its legal form, at least in certain circumstances.”)
  - must first look to plain meaning, then go to 'object & spirit' of the provision
  - may be used more by CCRA to decide when to audit

The General Anti-Avoidance Rule (GAAR)
- the industriousness of tax planners & literal interpretation of the Act (along with Stubart's rejection of 'business purpose' test) led to enactment of GAAR
- see s.245 (p.1346 of the Act:  “(2) Where a transaction is an avoidance transaction, the tax consequences to a person shall be determined as is reasonable in the circumstances in order to deny a tax benefit that, but for this section, would result, directly or indirectly, from that transaction or from a series of transactions that includes that transaction.”)
  s.245(3) defines “avoidance transaction”; aided by s.245(4) (defines what is NOT an avoidance transaction).

- like a statutory 'business purpose' test
- hybrid of US & UK developments

- highly discretionary (left in hands of the Minister)

- necessary to prevent aggressive tax planning, promote honesty & stabilise revenue
- in practice, GAAR is used when tax savings are more than $500,000.  

  - seen as a last resort
- has not yet been considered by SCC
See McNichol v. the Queen
- wanted to get money out of corporation they were winding-up.

- didn't want to issue dividends because they are taxable
- instead, structured as capital gains
- trying to get money out of a corporation = 'surplus stripping'
- the only reason they took this route was to avoid paying tax
- it was an avoidance transaction under s.245 (GAAR)
*NOTE:  there are no penalties associated with GAAR.  Simply need to pay the back taxes & interest on them.
Non-tax purposes need not be strictly business-related (could involve family, personal or investment purposes), but they must outweigh the tax benefits.


Paul Martin's Visit
- what are the underlying assumptions he made about role of tax & fiscal policy in setting the minimum standards he envisioned?

  - revenue gathering
  - redistribution of wealth
  - stabilisation of the economy

What is Income?

- ‘Uses’ definition of income (Haig-Simons definition):
  Income = Consumption + Wealth
- Income from a source:

  Income = Employment + Business + Property + Capital Gains + miscellaneous
- 'Uses' definition is the economic ideal
  - includes accretions to wealth, even imputed ones
  - hard to measure
- we deviate from the ideal given the difficulties in its measurement
- income for tax purposes is different from this ideal
Who Must Pay Tax?
- see s.2:  “(1) An income tax shall be paid, as required by this Act, on the taxable income for each taxation year of every person resident in Canada at any time in the year.”
- this is the 'charging' provision
- Qu:  who is resident?  We'll deal with that later...

What Must They Pay Tax On?
- see s.2(2):  “The taxable income of a taxpayer for a taxation year is the taxpayer’s income for the year plus the additions and minus the deductions permitted by Division C.”

  - income is defined as 'income'...thank you very much!

- s.3 is a little bit more explicit:

  - office

- employment

- business

- property
- this is the closest the Act comes to defining income
- only include income 'from a source' ~ if there is no source, it is not taxable
- also important to distinguish between capital (the 'source') and income (from that source)
- this is a fairly narrow definition of income
  - unlike the broad definition espoused by economists

- also note:  the purposive approach is not very helpful when interpreting s.3
A Breakdown of Taxable Income
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The 'Surrogatum' Principle
- if you try to manoeuvre things so that income you would've been received from a source that would have been taxable comes from a source that is not recognised, then the CCRA will deem it as flowing from the source.
- attempt to end income-shifting
Bellingham v. the Queen
- Bellingham had his land expropriated.

- he received a sum of money for his loss:

  $377,015 = compensation

  $181,319 = ordinary interest

  $114,272 = additional interest

- the whole sum was taxed
- s.12(1)(c) provides for the taxation of interest ($181,319 was taxable)

Issue:  was this compensation income or a capital gain?

Issue #2:  how should the additional interest be categorised?
- it was part of the taxpayer's business to deal in land

- the $377,015 was taxable business income

- as for the additional interest, taxpayer argued it was a windfall (non-taxable)
- Minister argued it fit into the residual category left alive by s.3(a) (by the words "not restricting the generality of the foregoing")
- court found that the payment was tantamount to a punitive damages award
- not income from a source.  Not taxable.

Criteria Used in Differentiating between Windfall & Income from a Source (see p.85):

  1.  No enforceable claim to the payment
  2.  No organised effort on the part of the taxpayer to obtain the payment
  3.  Payment not sought after or solicited by the taxpayer
*4.  Payment was not expected by the taxpayer (unexpected/unplanned)
*5.  No foreseeable element of recurrence
  6.  Not a customary source of income to the taxpayer
  7.  Not a quid pro quo (not a bargain transaction)

(* = most important)
- Court not misled by the title attributed to the income ('additional interest')

- also note:  many of the above criteria were not met
- it would seem better for a client, in view of this case, to push more of the damages into the 'punitive' category, instead of 'compensation'
Curran (1959)

- income not from a listed source, but taxable under s.3
- fell into residual category
Fries
- strike pay not from a source
- not taxable
Schwartz v. the Queen (1996, SCC)

- negotiated settlement ($360,000 as damages for breach of contract; $40,000 for costs)

Issue:  Was this money taxable?
- Minister argued this was a retiring allowance (specifically taxable) or alternatively, was income from employment.
- problem:  Court of Appeal overturned findings of fact of trial judge.  Shouldn't have done that!

Issue:  Was this a windfall, or income from an unenumerated source?
  - specific provision regarding retiring allowances:  s.56(1)(f)(ii)

- didn't fall within this specific provision...Court wouldn't allow it to be caught in the residual category (s.3(a))
- under the Act, unenumerated sources may be utilised, but the court will not be quick to do so
Fortino's
- owners of a grocery store in Hamilton sold it to Loblaw's.

- signed a non-competition agreement.  Received payments for signing these agreements.

- Minister thought these payments should be taxed as income from an unenumerated source or as eligible capital amounts
- court reaffirmed existence of residual category under s.3(a) (income from an unenumerated source), but admitted that the courts will only use it sparingly
- what the taxpayers were giving-up was not income, but a source
  - more in the nature of capital
  - however, s.14 didn't seem to apply (no longer operating a business).

- payment not taxable
- Minister did not claim that these were capital gains.  This is a possibility; has not yet been litigated.
NOTE:  In the US, their measure is gross income.  Closer to the ideal economic model.  In all three cases the taxpayers would have been taxed.

Nexus Between the Taxpayer & the Source
- pretty straightforward, for the most part (see p.100:  “Income from employment is taxable to the individual who receives it, which is usually the individual who earned it through the provision of his or her services.  Income from business or property is defined as ‘the profit therefrom,’ which suggests that the provider of services or the owner of the property is taxable on revenue from the provisions or services or the holding of the property.  Capital gain or loss of a taxpayer is defined as the gain or loss from the disposition or property, which suggests that the owner of the property, who controls its disposition, must recognise the gain or loss.”)

- however, it may sometimes be beneficial to shift income to people who pay lower taxes, while still maintaining access to the funds
Minet Inc. v. the Queen
- insurance broker gains commission from securing insurance & interest from investing the premiums
- difficulties arose with laws in certain states which prohibited payment of commissions

- in these cases, taxpayer collected the interest but the sister company, operating in those states, retained the commission

- see p.104:  commissions not taxed; lacked requisite degree of dominion or control.

  - premiums were not taxable, either.
  “an amount is not to be regarded as the income of a taxpayer where he or she has no absolute ownership or dominion over it.”
  - only the interest was taxed
- the dissent would have taxed the commissions
- tension between control theory vs. benefit theory
  - in Canada, we tax on the control model
- money was earned by Canadian company & directed by it

- arguably this case was wrongly decided
Buckman v. M.N.R.
- lawyer embezzled clients' money
- Minister wanted to tax these embezzled funds
- taxpayer argued that these were loans, or were profits from a type of illegal business that was not taxable.
  - essentially arguing that, since the money was loan, he did not have the requisite degree of control.
- court didn't buy it.  Not treated as loans.  This was income from a business
- taxable
Notice the tension between Buckman & Minet
  - both had control of the money
  - seems to devolve on benefit
Why Do We Tax Illegal Income?
- punitive
- ability to pay ~ doesn't really matter where the money came from

- goes to neutrality of the system

Grant v. M.N.R. (1967)

- taxpayer argued this was capital (not taxable)
- Minister argued this was employment income & benefit from employment
- this commission was taxable
Other Sources of Income
- see s.56 (p.267 of the Act):

- lists certain kinds of income

  - includes pension benefits, unemployment insurance benefits, CPP benefits, support payments, RRSPs, life insurance policy proceeds, legal expenses, scholarships, bursaries, research grants, education savings plan payments, financial assistance, social assistance payments, workers’ compensation


Income-Splitting

- transfer of income from one person to another who is taxed at a lower marginal tax rate, while still retaining the benefit of that income
- most income-splitting occurs within an economic unit:

  - families

  - related corporations & trusts

- in Canada, taxes are assessed on an individual basis
  - not filed jointly

See example on p.14 of supplementary materials:

Four families:  A, B, C & D

 A & B earn $100,000

  A = 1 earner @ $100,000

  B = 2 earners @ $50,000 each

 C & D earn $20,000

  C = 1 earner @ $20,000

  D = 2 earners @ $10,000 each

 - under a joint system of filing, both Families A & B pay tax of $42,500, while Families C & D would pay tax of $2500

 - under an individual filing system:

  A pays $50,450

  B pays $34,550

  C pays $3000

  D pays $2000

- individual filing system would promote income shifting; may change behaviour/employment patterns

- if the families shifted income, the government would raise less revenue
  - this is why the CCRA tries to make rules against income-splitting
Four Methods of Income-Splitting (see p.116)

1.  Direction of payment by 3rd party other than the taxpayer (s.56(2))

2.  Assignment of a right to that income (s.56(2))

3.  Transfer of property (s.74.1)

4.  Low-interest/non-interest-bearing loans (s.56(4.1))

~ see also ss.74.1-75
Assignment of Income ~ s.56(2)
Four Elements (see p.119):

- need to be met for section to apply

1.  Need to shift income in some way

  - there must be a payment or transfer of property to a person other than the taxpayer
2.  Taxpayer must be the one who directs this shift
  - payment or transfer is pursuant to or with the concurrence of the taxpayer

3.  For a benefit (to the taxpayer or the other person)
  - payment or transfer must be for the taxpayer’s own benefit or for the benefit of some other person on whom the taxpayer desired to have the benefit conferred; and

4.  Payment would otherwise have been included in the taxpayer's income
  - payment or transfer would have been included in computing the taxpayer’s income if it had been received by him instead of the other person.

- if these criteria are met, the income becomes attributable to the taxpayer
Transfers of Rights to Income ~ s.56(4)
Four Requirements:

1.  Taxpayer transfers or assigns right to an amount
2.  Done before end of taxation year
3.  Non-arm's length
4.  Would have been included in taxpayer's income
- if requirements are met, the income becomes attributable to taxpayer, unless they have actually assigned the income-generating property.
  - need to look at s.74 to catch those cases
Fraser Companies Limited v. the Queen (p.117)

- taxpayer sold an asset
- $20 million loaned to subsidiary
Issue:  who should be taxed on the investment income?
- Minister's arguments:

  1.  s.56(2):  directing a payment

  2.  s.56(4):  transferring a right

- problem:  this was a loan, not a transfer or a payment per se
- even so, the loan is not what we're concerned with, but the income it generated.  Not caught by these sections.
- p.118 explains the policy behind the rule:  “It is to cover cases where the taxpayer seeks to avoid what would be income in his hands to have that amount received by another person when he wishes to benefit or for his own benefit...he should not be permitted to avoid tax liability by the simple expedient of directing payment to a third party without having actually received the money himself.”
- in this case, the income:

  - was not for their benefit
  - may not have been taxable in their hands, anyway

- the taxpayer won
Neuman v. the Queen (1998, SCC)

- lawyer held shares in profitable holding company
- interposed a new company to hold these shares
  - wife was its director; held non-voting shares

  - declared dividends in both their favours, then loaned hers to the taxpayer
- Court held income was taxable in hands of the wife
  - probably should be taxable in hands of the taxpayer, under the control theory
  - however, shareholders cannot demand dividends.  Had no entitlement to this money.

  - if dividends hadn't been declared in her favour, there is nothing in law saying that money would have gone to him.  He would not have been taxed on it.

- Iacobucci corrects something said by Dickson in McClurg:

  - dividends are not connected in any way to one's contributions to the company
- used a fairly technical interpretation (not following the teleological approach)
Ferrel v. the Queen (1998, TCC)

- taxpayer is the settlor & trustee of the family trust.  Trust has shares in holding company, which had four subsidiary corporations.
- children were beneficiaries; they paid taxes (but at a lower rate than the taxpayer)
- company paid management fees to the trust; found that there was a bona fide agreement for the trust to provide his services
  - thus he can't meet fourth requirement (no entitlement)
- problem:  court seems to be saying, 'well, at least someone will be paying tax'...this ignores the whole problem of income-splitting
  - sure, someone is paying tax, but at a much lower rate!
- judgment affirmed by Fed. CA

- as a result of these cases, we have s.120.4 ~ the 'kiddie tax'
  - will be taxed at the highest marginal rate (29%)
Who Benefits Most from Income-Splitting?

- high income, high net-worth individuals
- where one person earns significantly more than their partner
- where they have multiple sources of income
Transfers of Property ~ s.74
- if property is transferred to a non-arm's length party & continues to earn income, that income will be attributable back to the original taxpayer
Transfers to Minors ~ s.74.1(2)

  - includes loans; “by any other means whatever”
  - minor not at arm's length (incl. nieces & nephews)
  - income attributed back to transferor
- definition of property:  s.248(1)

  - substitution/multiple transactions won't work (can be traced)
- the 'out':  if fair market value is paid, attribution rules don't apply
- NOTE:  'spouses' includes common law partners, which includes same-sex couples
Dunkelman v. M.N.R. (1959, Exch. Ct.)

- court managed to find that there was no transfer
- the trust bought the property itself
- property was never in the hands of the taxpayer, to allow him to transfer it
Summary
- remember, rules against income-splitting are a form of anti-avoidance provisions
- income splitting reduces revenue; attribution helps correct this problem
- the 'nexus' cases also deal with the issue of control vs. benefit ~ figuring out whose income it is

- generally, we like to tax those to whom the money belongs
- s.56(2):  making a payment (assignment of income)

- s.56(4):  directing a payment (transfers of rights to income)

  - both have the same requirements (four...see p.119 of the text)

- transferring property which generates income/capital gains may also be caught by these anti-avoidance provisions
  - also applies to substitutions
- the fundamental question:  is it even income at all?

  - must be income from a recognised source; not a windfall


- look at factors we listed

  - there may be income from unenumerated sources (but this category is rarely used)

- seems that the courts have taken a rather narrow, technical approach to these provisions
- not using the purposive/teleological approach which they have advocated in the past


Losses
- Capital losses must be segregated:
  1.  Can only be offset by capital gains
  2.  Taxed under a different scheme
  3.  Can be carried back 3 years & forward indefinitely
- Contrast with business losses:
  1.  Deductible against all sources of income
  2.  May be carried back 3 years or forward 7 years
Exceptions:
  1.  Farming Losses:  limit on the amount of losses that are allowed for hobby farms
  2.  Allowable Business Investment Losses - ABIL (small business losses):  if you sell shares at a loss, you can deduct it against any source of income (though technically it should been seen as a capital loss, and therefore only deductible against capital gains)


RESIDENCY

Who Are We Entitled to Tax?

- see s.2 & case law

- possible tax bases:  citizenship; domicile; residency
- residency is used as an attempt to find an economic nexus between the taxpayer & the relevant jurisdiction
Section 2
- s.2(1):  "every person resident in Canada at any time in the year"

- s.2(3):  tax payable by non-residents in certain circumstances
First Question:  is the taxpayer resident or non-resident?
- if they are found to be resident, they are taxable on all their world-wide income (goes to neutrality (affecting people's behaviour) and equity (ability to pay))
- also note that residency does not devolve on intention
  - unlike domicile
- non-residents are only taxed on their Canadian sources of income
  - apart from sales of property, they are taxed at the same progressive rates as all residents
- the Act does not define residence.  We must turn to the case law for assistance...

The leading case is Thomson v. M.N.R.
- travelled from New Brunswick to North Carolina
- domiciled in Bermuda
- he had a house in Canada.

Issue:  where was he resident?  More specifically, was he resident in Canada (remember that you can be resident in more than one place at a time)?

- court said Yes, he was resident in Canada.

- house was available for year-round residency
- most important point:  intention is not relevant to determining residence.

  - it is a question of fact
  - residence does not necessarily mean you own a home there
Lee v. M.N.R.
- UK citizen
- when he comes to Canada, he is deemed to be a visitor

- works outside Canada
- married a Canadian woman; she was dependant on him financially (he guaranteed the mortgage on their house)
- Court decided that the turning point was their marriage; after that date, he became a resident of Canada
- see pp.165-166 for a list of factors to consider
  - none is pre-dominant; no fixed number need to be present/met

- past & present habits of life


- regularity & length of visits in the jurisdiction asserting residence


- ties with the jurisdiction


- permanence or otherwise of purposes of stay


- ownership of a dwelling in Canada or rental of a dwelling on a long-term basis


- residence of spouse, children and other dependent family members in a dwelling maintained by the individual in Canada


- memberships with Canadian churches or synagogues, recreational & social clubs, unions and professional organisations


- registration & maintenance of automobiles, boats & airplanes in Canada


- holding credit cards issued by Canadian financial institutions or other commercial entities


- local newspaper subscriptions sent to a Canadian address


- rental of Canadian safe deposit or post office box


- subscriptions for life or general insurance


- mailing address in Canada


- telephone listing in Canada


- stationery including business cards showing a Canadian address


- magazine & other periodical subscriptions sent to a Canadian address


- Canadian bank accounts


- active securities accounts with Canadian brokers


- Canadian driver’s license


- membership in a Canadian pension plan


- frequent visits to Canada for social or business purposes


- burial plot in Canada


- will prepared in Canada


- legal documentation indicating Canadian residence


- filing a Canadian income tax return as a Canadian resident


- ownership of a Canadian vacation property


- active involvement in business activities in Canada


- employment in Canada


- maintenance or storage in Canada of personal belongings


- obtaining landed immigrant status or work permits in Canada


- severing substantially all ties with former country of residence.

The Sojourner Rule ~ s.250(1)
- deemed residence; results in being taxable on world-wide income
- if you've spent 183+ days in Canada during a given taxation year, you are deemed to be resident and taxed on your world-wide income (see para (a))

See R. & L. Food Distributors Limited v. M.N.R.
- wanted to be a Canadian-controlled private corporation (CCPC).  Want their company to be resident in Canada for tax reasons.
- in order to prove this, 50% of shareholders need to be Canadian residents
- there were 3 shareholders; 2 argued that there were Canadian residents under s.250(1)(a)
  - used the deeming provision because the test was clearer; easier to meet.

- court didn't agree.  Said that they were not resident.

  - sojourning requires a temporary stay.  This was not enough, on the facts.

- outcome might very well have been different if it was the government seeking to take them, instead of them looking for a tax break.
Interpretation Bulletin
- not law, but persuasive

- refreshingly simply to read; very useful

- it is the CCRA's position/argument

- definition of residence:  the place where, in the settled routine of his life, a person regularly, normally or customarily lives.
- most important factors:  permanence & purpose of stay abroad; residential ties within Canada or elsewhere; and regularity & length of visits to Canada
  1.  Spouse
  2.  Personal property/social ties/memberships
  3.  House
- everyone must be resident somewhere, but you can have more than one residence
- note when CCRA considers that you have acquired non-resident status

  p.173:  “the latest of the dates on which (a) he leaves Canada, (b) his spouse and/or dependants leave Canada (if applicable), or (c) he becomes a resident of the country to which he is immigrating.”
Part-Year Residence
- s.114:  part-year residence
- only taxed up until the point you leave the country, or only starting from the point in time when you arrive
- allows you to cut-down your tax liability
See Schujahn v. M.N.R.
- American working at Canadian branch, recalled to US offices mid-year.  

- however, he could not sell his house.  Left behind wife, child, house, car & bank account.

- the day he left he lost his residency.  The house was no longer a residence, but a house to sell.  His visits were singular & transitory in nature.  Didn't affect the result.

Ordinarily Resident
- s.250(3):  ‘resident’ includes people who are ‘ordinarily resident’
- generally, placing a modified on a word narrows its scope

- however, this term has been seen as broader than mere residence.  Catches more people.

See The Queen v. K.F. Reeder
- worked for Michelin; went to France for training
- maintained property in Canada (put in storage); had a Canadian driver's license & bank account
Issue:  was he a part-year resident, resident or ordinarily resident?
- ordinarily resident is not a temporal concept.  Unclear how different it is from plain old residence.  Does not include special, occasional or transitory residence.

- adopted definition of ordinarily resident from Thomson:  defined as where, in the settled routine of one’s life, a person regularly, normally and customarily lives.
- court held that Reeder was ordinarily resident in Canada for the full year
Residency of Non-Human Entities

i.e. corporations & trusts
Corporations - s.250(4)(a)

- incorporated in Canada after 1965 ~ deemed resident
- Problems:

  - incorporated before 1965
  - incorporated outside Canada
  - incorporated in Canada, but continued outside Canada
- need to use common law test of residency
  - usually where centre of control/management is located (i.e. where board of directors meets)

  - can be resident in more than one place
Trusts
- where majority of trustees reside
Non-Residents
Taxable Under Two Sections:
1.  s.2(3):  taxed on certain Canadian sources of income
2.  ss.212-218 (Part 13):  deal primarily with income from property; related to the withholding tax.
  - withholding tax:  if you are making payment to a non-resident (ex. a landlord), you are required to withhold 25% & pass it on to the CCRA (income from property)
  - covers royalties, estates, trusts, etc...

- tests under s.2(3) are the same as those for residents

- note that there is a deemed disposition of property when a resident leaves
  - departure taxes ~ s.128.1

'Carrying on a Business' in Canada
Qu:  What does it mean to be 'carrying on a business' in Canada?
Grainger & Son v. Gough
- solicit wine orders in England for French wine company
Issue:  did this constitute 'carrying on a business' in the UK?
- ended-up asking themselves where the contract was made...wherever it was made, that's where the business was being carried on.
- however, this leaves taxpayer too much control
- the law needed to evolve!

See Sudden Valley, Inc. v. Canada
- set-up an office in Vancouver

- trying to sell recreational property in the US
- Canadians were invited to visit Sudden Valley...no offers or contracts were actually made in Canada
- here, however, company wants to be found to be carrying on business in Canada, to avoid the withholding tax on some interest payments
- the court did not find that they were carrying on business in Canada
- looked at statutory changes:  s.253(b):  “where in a taxation year a person who is a non-resident...solicits orders or offers anything for sale in Canada through an agent or servant, whether the contract or transaction is to be completed inside or outside Canada or partly in and partly outside Canada...the person shall be deemed...to be carrying on business in Canada in the year.”
- removes Grainger principle from Canadian law
  - covers 'soliciting orders'...not invitations to treat

- seems sort of silly; highly technical


- not sure that I agree (neither does Turnbull)

  - interpreted to cover only contractual offers (in the strictest sense)

- seems to bring us back to Grainger ~ 'where contract formed' test

- restricts the purpose of the statutory reform
UK brought-in a broader test in F.L. Smidth:  “Where do the operations take place from which the profits in substance arise?”
- see factors listed on p.196 of text:  place of solicitation, manufacture, delivery, payment and provision of support services or maintenance of a Canadian bank account, inventory, branch office, agent or telephone listing.

  - similar to those we examined for determining residency
  - all seem to drive at the nexus between taxpayer & jurisdiction
Our most recent case:  G.L.S. Leasco
- complex business structure

- looked at definition of business:  s.248(1)

  - amplified by s.253(b)

- looked at many of the factors outlined by UK judgment in Smidth
- concluded that this company was carrying on business in Canada
- seems that these determinations devolve totally on the facts
Tara Exploration & Dev.
- incorporated prior to 1965, so statute didn't apply
- fall-back on common law rules of residency
- had head office & bank account in Canada, but all other corporate activity took place in Ireland

- was capital gain from sale of some Canadian shares taxable?

Issue #1:  was the income from business or property?

Issue #2:  was the corporation carrying on business in Canada?

Issue #3:  application of Canadian-Irish tax treaties

- judge found these sales fell within the definition of business ('adventure in the nature of trade')
  - however, there was no carrying-on of a business
- so, you can have a business in Canada but it may not constitute 'carrying on a business'
- doesn't make much sense

- SCC resolved the case on the basis of the tax treaty...the rest of the confusion still remains...

- Act was subsequently amended:  companies doing these types of things are now deemed to be included (s.253(c)) in the definition of 'carrying on a business'
Tax Treaties
- help to reduce the impact of double taxation when a person is resident in more than one jurisdiction
Taxation of Aboriginal Peoples in Canada
Possible Approaches:
1.  General exemption based on claims of sovereignty (p.221)

  - so far this approach hasn't been given effect in law
2.  Treaty exemptions (p.222)

  - never agreed to be taxed

3.  Indian Act exemptions ~ s.87 (p.223)

  - only applies to Status Indians (not Métis, Inuit, etc.)

  - covers property on reserves (real & personal)

Justifications/Purposes of an Exemption:
  A.  Remedying historical disadvantage

- rejected in Williams
  B.  Preserving integrity of property granted to First Nations
  C.  Did not deal with the possibility that it is linked to tax sovereignty of First Nations people.  Maybe that is yet to come...

Williams
- Status Indian received EI benefits
Issue:  were they taxable?
- used ‘situs’ test.  Totally fact-based.

- considered a number of factors to determine nexus with the reserve (similar to residency test)

  - employment had been on the reserve

- decided that these benefits were not taxable
Recalma
- family invested money in a bank on a reserve
- investments were mainstream; not focused on the reserve
- didn't meet Williams test for location
NOTE:
1.  Corporations are not eligible for this exemption.




2.  Provincial sales tax exemption devolves on point of sale (needs to be on the





reserve)

E-Commerce
- look at the same factors as with old 'bricks & mortar' business
- also look to:

  - currency used in the transaction
  - domain name
  - is it targeted at Canadians?  Does it have Canadian ads?

  - do Canadians visit the site (look at site statistics)?


Structure of the Income Tax Act
Part I:

  Division A:  ss.1-2

  Division B:  ss.3-108 *our main focus*

  Division C:  ss.110-114.2


- not very important any more

  Division D:  ss.115-116

  Division E:  ss.117-127

- s.3 tells us how to determine a taxpayer's income

  s.3(a):  first, figure out gross income (including office, employment, business & property, but not capital gains)

  s.3(b):  look at capital gains, after subtracting capital losses (i.e. net capital gains)

  s.3(c):  see if total from subs. (a) & (b) exceeds deduction under Subdivision E

- this figure is one's net income
  s.3(d):  allows you to take into account your losses (but will not allow you to file for a negative amount)

How to Calculate Tax According to s.3 

   Subdivision A:  income from office or employment (relates to s.3(a))

+ Subdivision B:  income from business or property (relates to s.3(a))

+ Subdivision C:  net capital gains (relates to s.3(b))

+ Subdivision D:  other sources of income (including s.56)

 Subdivision E:  other deductions
= Division B:  net income
 Division C:  deductions
= Taxable Income
x Tax Rates
= Tax
 Tax Credits (ex. basic personal deduction)

= Basic Federal Tax
+ Provincial Income Tax (a percentage of the federal tax)

= Total Income Tax

Subdivision A:  Income from Office or Employment
- s.5:  'office' defined on p.1371 (s.248(1))

  - includes judges, Senators, MPs, Ministers, MLAs, corporate directors

Issue:  officer/employee vs. independent contractor
  1.  Taxpayer receives more favourable tax treatment as an independent contractor

- income from business vs. income from employment

- independent contractors have more possible deductions (much more than employees)

  2.  Employees are subject to source deductions (withholding provisions)

- independent contractors are responsible for their own taxes.  Not subject to source deductions.  Employing organisation doesn't have the whole picture of their income.  No reasonable basis for calculating these deductions.

  3.  Different accounting structures:

- employees are subject to a cash accounting

  - when you receive the money, you are taxable for it

  - doesn't matter when the work was done.


  - much easier to calculate

- independent contractors are taxable on an accrual basis

  - must pay taxes when money is earned, not when money is paid/received


  - easier to manipulate/control the timing


- can bill the customer later (defer taxes to another year)

  4.  Reporting period used to be different (pre-1995)


- employees were on a calendar year, whereas independent contractors could set their own fiscal year.  Usually used Feb.1st - Jan.31st


- got 14 months 'tax-free'.  Think of the time value of money.


- now everyone is bound to the calendar year
Wiebe Door
- taxpayer reassessed for not remitting source deductions
- his workers thought they were independent contractors responsible for their own taxes
- gives us a bit of history...

  - 1st test:  control test (p.236)


- master/servant:  master can say what is to be done & how it should be done

- independent contractor:  principal can only say what is to be done; independent contractor has control over how it is done
  - 2nd test:  entrepreneur test (four parts)

1.  Control

2.  Ownership of Tools

3.  Risk of Loss

4.  Chance of Profit

- trying to answer, 'Whose business is it?'

  - 3rd test:  integration test

- extent to which work done by worker is an integral part of the business

- didn't like this one.  Too easy to manipulate.

- says we should consider all of them from the perspective of the worker/employee (not the employer)
- sent back for new trial.  No final determination.

Moose Jaw Kinsmen Flying Fins, Inc.
- swim coaches deemed to be employees, not independent contractors
- reinforces authority of Wiebe Door
  - need to take a broader approach

- most important factor here:  detailed employment contract
  - meant to give employer greater control over coaching

Qu:  how important is it to consider how the parties view the relationship?  Is it a decisive factor?
  - it is just another factor.  Should not be left to be determined by the parties ~ would lead to an erosion of the tax base/greater tax avoidance.

Rosen (1976, Fed. Ct. Trial Div.)

- worker claiming to be an independent contractor
- worked full-time for the government; also lectured at several colleges
- argued that he was in the business of lecturing; not an employee of these institutions

- Court considers all the relevant factors:

  - contracts signed

- taxpayer wanted the court to use the control test
- court held that only using one test was too narrow (even though it preceded Wiebe Door)

- Rosen had no more freedom than full-time faculty members, who are beyond a doubt employees

- also used Denning's integration test

- taxpayer deemed to be an employee.  Deductions disallowed.
Cavanagh (1996)

- TA case:  employee of independent contractor?
- court looked at a variety of factors:

  - contract

  - responsibility for off-campus expenses

  - limited supervision

- initially filed as an employee, but then re-filed (see comment on p.250...oops!)

  - court accepted that it was simply a mistake

- follows Wiebe Door:

  - on the control test, found that little control was exercised

  - supplied his own tools

  - risk of loss:  pupils could drop out of his class (logic on this point is unclear)

  - had to renegotiate his contract for every class ~ no tenure

  - paid in an irregular fashion

  - considered integration test:  it is an integral part of his business as a TA...not very convincing

- this whole case seems a bit irrational

NOTE:  the fact that York University treated him as an employee is not determinative
- hard to reconcile Rosen with Cavanagh:  Turnbull thinks Rosen is right
A Summary

- initially, it all devolved on the contract:  contract of service or contract for services.

  - used the control test

- now we use a much broader 'facts & circumstances' test
  - combine control test, entrepreneur test & integration test
See 671122 Ont. Ltd. v. Sagaz Industries Can. Inc. (2001, SCC)

- dealt with independent contractor vs. employee distinction; reviewed Wiebe Door
- approved the judgment:  control test is no longer the sole test
- decided that there is no one test to be used
- must look at the total relationship of the parties.  There is no magic formula.

Issue:  is the person in business on his own account?
- no exhaustive list of factors
- affirmed Wiebe Door ~ it is good law

Curran v. M.N.R. (1959, p.253)

(the only case to have found an unenumerated source of income)

- geologist who worked for an oil company
- another company induced him to breach his contract
- gave him $250,000 for loss of pension rights, chances for advancement and opportunities for re-employment in the industry.

Issue:  was this taxable income?  Yes.
- dissent said part of it was a capital receipt (not taxable under laws of 1959)

- majority instead felt that it was a payment for services to be rendered (p.254)

- taxpayer argued that the payment was not encompassed by s.6(3) so it should not be taxed under a more general provision (similar to argument made in Schwartz).  

- Court did not agree.  Said it felt the payment was covered by s.3, as income from an unenumerated source.
So What Can One Do to Avoid Being Termed an Employee?

- draft the contract appropriately (reflect an intention for worker to be an independent contractor)

- interpose a trust or corporation (sometimes acceptable)

- make money received become capitalised (like dissent in Curran...taxed in a more favourable way)

NOTE:  Tax Act has since been amended to cover the situation in Curran
Section 5 ~ Income from Employment

- applies to residents & non-residents with Canadian-source employment income
- dealt with on a cash basis (when it is received)
- taxation year = calendar year
- includes salary, wages, gratuities & 'other remuneration'
  - also includes non-monetary payments & remuneration
- equity demands that these benefits be taxed
- also, erodes the tax base.  Creates neutrality concerns.

Taxation of Non-Monetary Benefits & Effect on Horizontal Equity
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- in the end, the government is subsidising the benefit
- may be hard to value these benefits (may be worth more to some, less to others)

Taxation of Non-Monetary Benefits & Effect on Vertical Equity
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- this benefit is worth more to TP2
  - value to them of having benefit not taxed is greater
- higher income taxpayer would not be paying more

- also, high income taxpayers are more likely to arrange these types of non-case benefits
  - low income earners need the cash!

Taxation of Non-Monetary Benefits & Effects on Neutrality
- if non-cash benefits were not included in income, employees would have an incentive to skew their income towards these sources
- for these reasons, non-cash benefits are taxable under the Act
  s.5:  “other remuneration”

  s.6(1):  “received or enjoyed...in respect of, in the course of or by virtue of an office or employment”

Practical Limits
- if it is a benefit worth less than $100 per employee then they needn't claim it.

- employees may also receive a $100 gift from their employer, except in the year they get married (then they can receive two $100 gifts).

Wieslaw v. R.
- employee given a gold ring; did not pay taxes on it as a non-cash benefit
- the ring had a corporate logo on it
  - that made it valueless

- court valued it at $79 ~ scrap metal costs

Speaker:  Naomi Goldstein, CCRA

- works with CCRA - Department of Justice - as a lawyer

- Three Ways of Looking at Tax Law:

  1.  Academic (now, as a student)

  2.  Tax-planning (as a practising lawyer)

  3.  Assessment & establishing liability (her perspective)

- Mandate of CCRA:  collection of various taxes (income, GST, EI & CPP premiums)

- Process of an Income Tax Appeal:

  Filing
  - file by April 30th, of the following year


- either by paper, phone or InterNet

  - paper copies are received at taxation centre for obvious errors

  - you will receive a Notice of Assessment within 1-8 weeks

  - you may dispute this assessment

  Audits
  - Why?  


a) Calculation errors


b) Project audit:
ex. having a child ~ claiming child care for the first time








ex. certain investments








ex. if you belong to a certain group








- current case with non-resident Air Canada & Canadian pilots...








what part of their income may be allocated to Canadian sources)








ex. belonging to related transactions








- shareholder of an audited corporation








ex. snitch line








ex. large corporations; high-income earners








ex. random (every 100th return)


c) Desk audit:  get a nice letter asking for certain documents


  - if you provide them, you probably won't hear from CCRA again


d) Miscellaneous:


  - special investigations:  deals with possibly criminal behaviours


  - avoidance department:  deals with aggressive tax planning

  - if there is a disagreement between taxpayer & CCRA, a Notice of Reassessment will be issued.  Explains their position & asks for payment.

  - you may pay, or file a Notice of Objection with Minister of National Revenue


- very strict time lines!

  Appeals

  - then goes to a totally different department:   appeals section

  - may re-audit

  Three Possible Outcomes:


1.  Auditor was wrong.  Reassess for the old amount.


2.  Auditor's findings may be varied.  Reassess for a different amount.


3.  Notice of Confirmation, confirming what the auditor did.

  - you may pay, or choose to fight it.

  - you must file an appeal with Tax Court of Canada

  Tax Court
  - totally independent from CCRA

  - approximately 20 judges

  - travelling court.  Visits Winnipeg about 15 times a year.

  Two Divisions:


1.  Informal Division

  - 75% of cases

  - expedient; inexpensive.  Meant to be accessible.


  - trial set down 6 months after filing Notice of Appeal


  - no pre-trial discovery; need not be represented by a lawyer


  - like small claims court (max. dollar amount = $15,000)


2.  General Division

  - more like Queen's Bench


  - pre-trial discovery & procedures


  - much more formal


  - must be represented by a lawyer.  Much more expensive.

  - 1/3 of cases deal with CPP & EI benefits.  Amounts usually around $4000-$5000

- New Initiatives:

  - E-filing

  - Rulings (preliminary findings about tax consequences of proposed transactions)

  - Bill of Rights for taxpayers

  - freedom of information (release of records)

  - fairness discretion:  may waive interest in hardship cases

- Reasonable Expectation of Profit (REOP):

  - wanted this test to be more subjective/from the taxpayer's viewpoint.

  - a new test may be forthcoming (Bouvier warehouse case heard by SCC in November; judgment reserved).  Will be a lower hurdle.

- Collections Department ~ Current Issues:

  - is the CCRA bound by provincial statute of limitations when it comes to collection?

  - see Markovich (currently before SCC)

- Do's & Don'ts of Dealing with the CCRA:

  1.  Treat them with respect.

  2.  Do it right the first time.  Try to avoid conflicts with the CCRA.

  3.  Do everything you can to comply with time periods.

  4.  Don't threaten to go to MP, or the media.  It won't work!

  5.  Do a cost-benefit analysis.  Is it worth the cost?

  6.  Remember CCRA is bound by its statutory framework.  Can't go outside those bounds for your client.

  7.  Be creative when coming-up with solutions.

  8.  Don't bemoan the amount of time things take.  They take that long for a reason!

  9.  Never sacrifice your reputation with the CCRA for one client.  You'll never be trusted again.  Will not benefit your future clients at all!


Check the website for link to Globe & Mail article ~ possible exam question!

Also:  PowerPoint slides are available online:
username:  taxation















  

password:  equity


A Quick Review of the Relevant Provisions
- s.5 is the charging provision
- s.6 fleshes out the details
- s.7 deals with stock options
- s.8 lists available deductions for employees
Taxation of Employment Benefits

- focus on s.6(1)(a):  inclusions, minus certain policy-driven exceptions

  - probably not necessary (s.5 is fairly broad)

- wording of s.6 is also very broad:  "other benefits of any kind whatever"

Three Issues:
  1.  The necessary link or connection

- benefits must be received in respect of, in the course of or by virtue of an office or employment
  2.  What is a benefit?

- not everything is a benefit ~ must have value
  3.  Valuation

- what employee must include in income is the value of the benefit
The Requisite Connection

- three cases on point...

Most important case:  Savage (SCC)

- taxpayer received prizes from her employer for successful completion of courses
- prizes = $300
- Court rejects British approach:  statutory language much different

- the test is not 'remuneration for services' ~ too narrow!

- relies on Phaneuf:  was it given to him as an employee, or simply as a gift in his capacity as a human being? (see p.266: appropriate test ~ “whether the benefit had been conferred on [the taxpayer] as an employee or simply as a person.”)

  - most everything received from an employer will have the requisite connection, using this test
- the $300 was held to be taxable
Laidler v. Perry (1965, HL)

Issue:  was this a gift, or a benefit from employment?
- company paid £10 to each employee at Christmas.

- court found that it was not a gift.  It was part of their remuneration as employees.

- remember:  this is not the test in Canada.  The Canadian test is broader.

- do not be misled by the magnitude of the gift (though it may become a practical/ administrative concern)

Campbell v. M.N.R.
- swimmer signs contract with newspaper to swim across Lake Ontario

- she fails, but comes really close

- the paper pays her anyway
Issue:  was this a gift, or business income?
- complicated by the fact that it was paid-over voluntarily
- also:  not a recurring amount; no ongoing business or employment relationship
- notwithstanding these peculiarities, the court found that this was taxable income

  - noted that the newspaper deducted it as a business expense.  Wouldn't have done so if it truly was a gift.

A Summary of the Canadian Position
- the Canadian test is very broad:  received as an employee, not in their personal capacity/as a person.
- language of the statute should be construed broadly.

What is a Benefit?

Sorin v. M.N.R.
- two men ran a hotel
- one worked late nights; stayed in a room at the hotel about five nights a week
- he had another home (lived with his brother)

- Court found that this room did not constitute lodging.  Not taxable.

- Note:  on a strict interpretation, this case could have gone the other way.

- Problem:  if they had found it to be a benefit, it seemed overvalued.  Only of minimal value.
Paul G. Arsens v. M.N.R.
- Victoria restaurant's publicity stunt:  employee trip to Disneyland
- 30 employees on an 8-day bus trip

- co-ordinated by the owner & a commercial photographer

Issue:  was the trip a promotional expense of the company or a personal benefit for the employees?
  - problem with this 'primary purpose' test:  these purposes are not mutually exclusive.  Not a very effective test.

- Court decided that this was a promotional stunt.  Not really a benefit to the employees, either.

- not taxable.

- fairly subjective; that could prove to be problematic.  Impractical to implement/ administer.

- according to the latest Interpretation Bulletin, the CCRA would consider this type of trip (with a personal element) at least partially taxable.
The Queen v. Huffman
- Huffman was a plain-clothes police officer
- regular officers had their uniforms provided
- employer reimbursed him for these clothing purchases, to put plain-clothes police officers on a level playing field with uniformed officers

Issue:  had there been a material acquisition which conferred a benefit on the taxpayer?
- No.  It merely restored him to a previous position.  Did not confer a benefit.
- look at equity between these cops & all other employees for whom clothing purchases come out of their after-tax budget.

C.J. Ransom v. M.N.R. (1967, Exch. Ct.)
- employee transferred from Sarnia to Montréal
- sold his house at a loss
- employer absorbed the loss; paid him the difference.

- Minister felt that this payment was taxable

Issue:  was this simply reimbursement, or was it a benefit?
- Court held that it was reimbursement ~ not taxable.

- goes through a number of examples, classifying them as remuneration, reimbursements & allowances.

  - this was not an allowance
  - this was more like a reimbursement.  Note that he was still being paid a salary.  That was obviously his remuneration.

- Court relies on Tennant v. Smith:  didn't put something in his pocket, but saved his pocket.
NOTE:  Tennant v. Smith is no longer good law in Canada.
- we no longer need to look for remuneration for services, but something broader, according to Savage
- also note:  this was payment based on a personal decision.  

- also think of the effect on horizontal equity.

- this probably wasn't the correct decision
The Queen v. Phillips
- Court wrestles with Ransom
- taxpayer moving from Moncton to Winnipeg
- acknowledged that housing cost was more in Winnipeg; gave relocating employees $10,000
  - like an allowance:  did not have to be accounted for
- summarises Ransom at p.290:  “The rule in Ransom is straightforward.  Reimbursement by an employer for the loss suffered by an employee in selling a house following a job transfer is not taxable to the extent that the payment reflects the employee’s actual loss”
- needed to find a way to distinguish Ransom
  - separated the two kinds of payments (see p.291, top):


1.  Losses incurred on a sale (“larger capital outlay on the employee’s part as a result of on-average higher housing prices at the new work location”)


2.  Expenses incurred in acquiring a new house (“higher financing costs with respect to that portion of the mortgage principal attributable to higher housing costs”)


  - these payments should be taxed.  Distinguishes Ransom.
- really a payment to defray a personal expense
- did not want rule in Ransom to expand:  would allow employers to increase benefits to employees without increasing tax payable
Further Limits on Ransom
- 1998 Budget dealt with Ransom by implementing new provisions.

- can reimburse up to $15,000...half of anything after that will be taxable
- limits Ransom's effect
Gernhart v. the Queen
- employee relocates from USA to Canada
- employer has a tax equalisation program:  top-up salary to compensate for increased taxation
Issue:  was the employee being enriched or restored ~ simply ask, did the employee receive a benefit?

- once again, trying to get around Ransom
- taxpayer argues that this payment merely saved her pocket, instead of putting something in it
- court held that this was an obvious benefit.  It was taxable.

NOTE that there is no SCC authority on this point.  

- Simply take a broad approach & ask, 'Is the employee receiving a benefit?'  

- Taxpayer will always argue Ransom.
Valuation of the Benefit
- there are a number of ways to get at the value of a benefit.

Possible Measures:
  - cost to the employee
  - cost to the employer
  - resale value of the item
  - subjective value to the taxpayer
- the appropriate test is the fair market value.

- a subjective test would be an administrative nightmare.

- resale value is also not taken into account
- fair market value is defined as the price paid by a buyer who needn't buy (a willing buyer) and a seller who needn't sell (a willing seller) ~ p.301:  “amount a person not obligated to buy would pay a person not obligated to sell” (see Steen v. Canada)
- it is the duty of the employee to report the value of all benefits received or enjoyed
Giffen et al v. Canada
- two employees acquired a great deal of frequent flyer points travelling on business.

- later used these points for personal trips
- One argument:  frequent flyer points are not related to or connected with employment.

  - taxpayer voluntarily signs-up for the program

  - CCRA & courts have not accepted this argument
- What is the value of the benefit?
  - cost to airline?

  - cost to employer?

- No...it is the cost of a ticket similarly restricted (as one bought with points)

  - need to discount a similar ticket given the numerous restrictions
- figured that the value was 50% of a regular airline ticket
Youngman v. the Queen (1990, FCA)

- shareholder made an arrangement with his company to build his family home on land the company had acquired
- appellant paid rent, but it did not accurately reflect a fair rent for that property

- Minister argues that this discount in rent is a benefit & should be taxed
- Court comes up with a complex formula for calculating value.  Look at:

  - what benefit was provided to employee?
  - what would be the cost of acquiring that benefit?
- then needed to subtract the amount of rent actually paid, and the loan that he made to the corporation
A Summary
- s.6 is quite broad; pretty well anything is a benefit
- the value of the benefit is generally defined by fair market value
Allowances
- fixed amount of money given to employee by employer
- need not account for how it is spent
- may be a disguised form of remuneration.  That's why it is taxed.

Three Characteristics:
  1.  Fixed, arbitrary amount.

  2.  May be attributable to a specific purpose.

  3.  Able to be spent at the recipient's discretion.

Campbell v. M.N.R.
- monies found to be an allowance
- court fixated by the fact that these duties were not part of her job description
- probably the right result

Huffman
- not an allowance
- taxpayer had spent more than the allotted amount
- not taxable...it was a reimbursement
Practical Application

- as an employee, try to avoid receiving allowances.

- not to your advantage.  Get a reimbursement instead.
Deductions ~ Section 8

- equity problem:  fewer deductions from employment than from business income
- up to 1988, there was a standard employment deduction, which tried to offset some of an employee's costs.  This has been eliminated.  Resulted in a loss of too much revenue.
- very detailed & specific.  Extremely limited.

- luxury is not allowed.  The limit:  reasonableness.

Martyn
- pilot claiming commuting expenses to the airport (his place of employment)

- these were personal expenses.  Deduction disallowed.

- not a part of his employment.  Hadn't started work yet (while travelling to his 'workplace')

Employee Stock Options ~ Section 7
- granting of a stock option = the right to purchase shares in a company (generally, the employer) in a limited time frame for a specified amount.

NOTE:  it is not the actual shares at issue, but the RIGHT to purchase shares
- exercising your option = buying the shares
- disposing of shares = selling the shares
What is the Benefit of Having a Stock Option?
- value of the shares at the time when you exercised your option over & above the amount specified in the grant.
- this excess is taxable as employment income
- best thing to do:  buy early.

  - less is taxable employment income; more is a capital gain.

Four Issues:

1.  Nexus/connection to employment relationship

2.  When should the benefit be taxed?

3.  What is the value of the taxable benefit?

4.  How much of the benefit is taxable?

Timing
- benefit is included in income when the option is exercised and shares are acquired
Example:  option to purchase at $10/share.
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- Exceptions:  shares in Canadian-controlled private corporations (CCPCs).
  - no tax upon grant or exercise.  Tax is deferred until disposal (sale) of shares.
  - even then, the employment portion of the income is taxed just as favourably as capital gains (only 50% is subject to taxation)
  - Policy:  meant to stimulate economy & promote Canadian corporations

Subdivision B:  Income from Business & Property
- s.9 is the charging provision.  We will also examine ss.12, 18 & 20.

- s.9 tells us income = profit.

  - 'profit' is not defined in the Act.
- s.9 is more general; the other sections go over the specifics

- ‘Business’ and ‘property’ are defined in s.248(1)
  - business does not include office or employment
  - property definition is interesting:  note (d) in the definition (“the work in progress of a business that is a profession”) ~ important to lawyers & all professionals

- distinction becomes important upon sale of a thing (issue:  is it business or property?); in determining applicable deductions for non-residents (property income subject to 25% withholding tax); business income has better deductions and is only taxed at marginal rates; attribution rules apply only to property, not business, income.
- a business is an organised activity carried on with a reasonable expectation of profit.
- this notion of 'reasonable expectation of profit' is currently before the SCC in Walls v. Bouvier.  Still awaiting judgment.

Organisation
The Gambling Cases
1.  Graham v. Green
  - not sufficiently organised to constitute a business

  - his vocation was not gambling.  This money was not taxable.

2.  Walker v. M.N.R.
  - framed the issue as:  was this merely a hobby, or his full-time occupation?
  - Walker couldn't afford to lose:  had the intention of making a profit.

  - decided this was income from a business.  It was taxable.

  - underlying assumption:  he was acting rationally.  Definitely a questionable assumption.

3.  M.N.R. v. Morden
  - though he loved to gamble, the court felt this was a hobby, not a business.

4.  McEachern
  - deep sea divers recover gold & silver coins
  - this was a business.  Taxable.

5.  Kay
  - antiques dealer.  Didn't meet the standard of general business practices.

  - more like a hobby.

- as a matter of policy, even if it were deemed to be business income, taxpayers could then deduct expenses.
- generally, gamblers lose more than they win.  Not a great source of revenue.
Reasonable Expectation of Profit (REOP)
- don't want people deducting losses forever.  Need to have a hope of profit.
  - otherwise, other taxpayers shouldn't be subsidising them

- test comes from Dickson J. in Moldowan (p.347 of text).  Though the list is not exhaustive, he suggested courts look to:

  1.  Profit & loss experience in past years
  2.  Taxpayer's training
  3.  Taxpayer's intended course of action
  4.  Capability of the venture as capitalised to show a profit after charging capital cost allowance.

- further factor from Sipley:  time spent by taxpayer on the activity.

- interpretation of Moldowan started with Tonn:  looked at the 'personal element' in an activity
Jacquot v. R. (TCC, 1999)

- six years of losses as a writer (greater than $15,000/year)

- court said this was clearly a business, and the writer had a REOP
An aside ~ taxation of gold medals:  s.56(1)(n) ~ Regulation 7700:  international prizes not taxable.
Section 9(1) Issues
1.  What revenues to include?

2.  What deductions are allowed?

3.  Timing issues

1.  What Must Be Included as Profit?

- business is defined as an organised effort with a  reasonable expectation of profit.

- reasonable expectation of profit test created by SCC in Moldowan; now under review in Walls v. Bouvier.
Tonn (p.347)

- taxpayer purchased a vacant rental property
- rental market suffered a severe downturn
- Minister reassessed:  said they had no reasonable expectation of profit
- in the absence of suspicious circumstances (a strong personal element), the REOP test was not appropriate.  Should be used sparingly.
- see bottom of p.348-top of p.349:

  “The primary use of Moldowan as an objective test, therefore, is the prevention of inappropriate reductions in tax; it is not intended as a vehicle for the wholesale judicial second-guessing of business judgments...Errors in business judgment, unless the Act stipulates otherwise, do not prohibit one from claiming deductions for losses arising from those errors...The Moldowan test should be applied sparingly where a taxpayer’s ‘business judgment’ is involved, where no personal element is in evidence, and where the extent of the deductions claimed are not on their face questionable.  However, where circumstances suggest that a personal or other-than-business motivation existed, or where the expectation of profit was so unreasonable as to raise a suspicion, the taxpayer will be called upon to justify objectively that the operation was in fact a business.”

- Tonn was interpreted as creating a new test:
  1.  Strong personal element:  REOP to be applied strictly
  2.  No personal element/business judgment:  courts should not interfere.
REMEMBER:  it's not the profits but the expectations that must be reasonable.

- even where there is a REOP, losses may occur (especially in the start-up phase of a business).  They just cannot continue forever.

Mastri (1997, FCA)

- attempted to clarify this situation

- said REOP should always be used, but applied more leniently where there is no personal element
REOP & Business vs. Property Income
NOTE:  REOP applies to both business & property.  The distinction between sources was not addressed in Tonn.
- Tonn is probably a case about income from property
- most of the time, the distinction is immaterial ~ they are treated the same

  - note that business includes an adventure in the nature of trade.  May include the purchase of a property, if done speculatively.
- the bigger concern may be distinguishing income from business or property from capital gains (which get a much more favourable treatment)

  - capital gains are more like investments which you hold for a long time.  However, if you are in the business of buying & selling investment properties, any profits you realise are profits, NOT capital gains (they are totally taxable).
- obviously, most businesses involve the ownership of property.  

  - income from property is more passive/intrinsic.

  - however, if the income derives from the activities of the owner, it is more likely business income.

- REOP principle applies to both
Maloney
- man rents property to mother-in-law at below-market rent
- his losses were considered gifts & not deductible
- no reasonable expectation of profit
A Few More Notes on Property Income
- see s.248(1) for a definition of property

- remember s.74 rules of attribution apply to income from property
- for non-residents, income from property is subject to a 25% withholding tax
- if you dispose of property & payments are deferred, you are deemed to have loaned the purchaser money.
  - this is interest income & is taxable, given the Act's anti-avoidance provisions.

Income from Property
- s.9(1):  based on profit
- s.9(3):  capital gains excluded
Four Broad Categories:

  1.  Dividends
  2.  Interest (rent on use of your money)

  3.  Rents from real property
  4.  Royalties (patents, mineral/timber rights)

1.  Dividends
- any pro rata distribution by a corporation to its shareholders, except upon dissolution.
- income from equity in the corporation
IMPORTANT:  anti-avoidance provisions ~ s.84 (deemed dividends)

  - remember McNichol?

- individuals get dividend tax credits.  Corporations receive dividends tax-free.  Avoids double-taxation.
2.  Interest Income:  ss.12(1)(c) (p.39 of the Act)

- fairly specific

- bottom line:  interest income must be included
A.  What is Interest?
  - compensation for the use of another's money
  - must be referable to a principal amount
  - must accrue daily
  - the property is the debt obligation (a chose in action)
  - quantum = rate X principal
  - discounts & bonuses are ways of paying interest...that's all we need to know

B.  Timing
  - this is the tricky part...

Groulx
  - assumed that part-payments included a portion of interest (payments were part capital, part interest).
  - not fully a capital gain.  Instead, they were blended payments.

  - note that payment amount was greater than fair market value of the property
- s.12(1)(c) seems to allow taxpayers' discretion in choosing their own accounting method
- s.12(3):  deals with corporations; provides that interest must be included on an accrual basis.
- s.12(4):  applies to individuals.  Must include interest payments as they accrue once a year.  A bit more flexibility for individuals (a bit more work for corporations in terms of calculation).

- Look at sample problem on p.366 (‘Certificate held by X’)

  - in Year 1, individual would not include any interest income...a corporation would have to include half a year's interest
NOTE:  value of interest is only the amount over & above the prevailing inflation rate.
  - this is an economic reality, but is not recognised by the law.

  - you will be taxed on the full value, regardless of inflation
3. Rents & 4. Royalties:  s.12(1)(g)

- problem distinguishing capital payments from income from property.

- ask, 'Have all the rights to the property been transferred?'
  - if so, it is likely a sale ~ involves capital gains
  - if not, it is income from property
Qu:  what about software?  All you get is a license...not a full sale.  What you are paying is a royalty.
  - Two Types:


1.  Shrink wrap (sale)


2.  Custom-designed software (royalties)

  - hard to define the boundary line between the two.  It is a question of fact.

Timing
- generally, taxpayers want to deduct expenses as soon as possible, while deferring income receipt as long as possible.
- profit is not defined in the Act
- instead, we use generally accepted accounting principles/practices to compute profit.
- sometimes, however, we depart from these rules because:

  1.  Income tax & financial accounting have different motivations

- financial accountants tend to be more conservative; err on the side of caution
  2.  Public policy motivation of the income tax scheme
Why Do We Use Generally Accepted Accounting Principles?

- not mentioned in the statute
See Canderel:

Issue:  was the tenant inducement payment deductible all at once, or should it be amortised over the years of the lease? (p.450)

- s.9 was the place to start (see p.451).  It is the guiding principle, in terms of business/property income.

- the question, 'What is profit?' is a question of law.

  - first look to s.9 & subsequent exceptions
  - then look to the case law
  - lastly, consider generally accepted accounting principles.


- these are simply interpretative aids.  Still, they may offer valuable guidance (p.452)

- there is no one approach.  Must simply accurately reflect the taxpayer's income for the year (see pp.454-455).

- Court accepted the taxpayer's argument & methodology.  It was acceptable to deduct the payment all in one year.
- recognised that there were other modes of calculation, but the Minister would have to convince the court that the other method would present a more accurate picture of taxpayer's annual income.
- summary given on p.458:

“(1) The determination of profit is a question of law.

  (2) The profit of a business for a taxation year is to be determined by setting against the revenues from the business for that year the expenses incurred in earning said income.

  (3) In seeking to ascertain profit, the goal is to obtain an accurate picture of the taxpayer’s profit for a given year

  (4) In ascertaining profit, the taxpayer is free to adopt any method which is not inconsistent with


(a) the provisions of the Income Tax Act;


(b) established case law principles or ‘rules of law’; and


(c) well-accepted business principles.

  (5) Well-accepted business principles...are not rules of law but interpretive aids...

  (6) On reassessment, once the taxpayer has shown that he has provided an accurate picture of income for the year...the onus shifts to the Minister to show either that the figure provided does not represent an accurate picture, or that another method of computation would provide a more accurate picture.”

- The Correct Method:
  1.  Comply with the Act.
  2.  Utilise generally accepted accounting principles (GAAP)
  3.  Produce an accurate picture of taxpayer's income.
- NOTE:  the taxpayer treated this income differently for tax purposes than for accounting purposes.
  - this type of tax avoidance is not countered by a provision in the Act.  So the taxpayer can get away with it...
Annual vs. Fiscal (p.461)

- individual taxpayer pays based on the calendar year
- corporations account on the basis of their fiscal year (see p.462)

  - this deferral opportunity was lost...now restricted to a calendar year as well
Methods of Accounting
Cash Method
  - when received
Accrual Method
  - when earned (not actually received)
Problem:  'receivable' not defined in the Act
West Kootenay Power
- sold electricity from December to January; payment due in January
- didn't put the December stuff on their tax return

Issue:  was it receivable?
  - need to include it when there is a clear legal right to payment & the amount is ascertainable
Conversely, expenses may be deducted when payable.  See J.L. Guay
- expense is incurred when all events which establish the taxpayer's liability to pay have occurred & the amount is reasonably ascertainable.

Deductions & Credits
An Example:  Childcare Expenses

  No Deduction:
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  Where Deductible:
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- deductions are worth less to those who pay at a lower rate
  Where Treated as a Credit:
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Tax Savings

$5 

$5 


- credits are the same regardless of your marginal rate
Subtractions from Income
- we will first examine a different kind of 'deduction'...those things allowed to be subtracted from one's income
General Provisions:

- s.9 is the place to start:  'profit' is a net concept
  - that tells us certain things may be subtracted from income to arrive at it
Specific Provisions:

- s.18:  limitations on deductions
- s.20:  capital losses, interest
Limitations on Deductions ~ s.18
- s.18(1)(a):  basically a restatement of s.9...doesn't tell us anything new

  - expenditure is deductible if it is connected to the carrying on of the business (that is consistent with GAAP)

  “no deduction shall be made in respect of an outlay or expense except to the extent that it was made or incurred by the taxpayer for the purpose of gaining or producing income from the business or property;”

  - gives us the 'business purpose' test
See Imperial Oil (p.373)

Issue:  were damages deductible as a business expense?
- Minister said, 'No, they're not.'

  - this is a legal liability.  It had nothing to do with earning income

  - adopted the more strict wording of the former Act ("wholly, exclusively & necessarily laid out")

- taxpayer argued:  we're in the business of transporting oil.

  - we earn income from it

  - there is a risk of collision at sea.  It is an ordinary hazard of this business.

  - this is an operating, not a capital, expense

- the court agreed that this expense was part of their business.

  - does not need to be linked to a specific stream of income...that would be unnecessarily narrow

  - must be part of the process/overall picture

  - look at its connection to the business as a whole
  - all expenses which were connected to the running of the business should be deductible, as they helped to generate the profit
- things like insurance premiums would also be deductible
Royal Trust Co. (p.377)

- this is where the language of 'business purpose' arises

- deductibility of social club memberships upheld
  - were reasonable, as a matter of good business practice
- s.18 has since been amended ~ this deduction would not be allowed; but its spirit lives on...

Specific Limitations on Deductions

- s.9 says income = profit
  - profit = revenue  expenditures

- look to the accounting profession & their practices

- s.18(1)(a) is somewhat redundant:  we would already know that, given the way accountants calculate profit

  - it is simply there to provide greater clarity/precision

  - makes it harder for judges to get around generality of s.9
  - sets limits on deductions
1.  No expense can be deducted unless it was incurred in the process of making a profit/gaining or producing income.
  - no causal connection is required ~ Imperial Oil
  - need simply be incurred in the course of gaining or producing income
  - losses need not generate any income ~ must simply be legitimately incurred
  - Royal Trust Co. dealt with the deductibility of social club fees

- problem with the personal element/benefit of entertainment expenses


- Act was amended after Royal Trust said these expenses were deductible ~ s.18(1)(l)
2.  No deduction for personal or living expenses:  s.18(1)(h)

3.  No deduction for capital outlays:  s.18(1)(b)

  - cannot be claimed all in one year, as a current expense
  - must be amortised over time
  - governed by s.20
'But For' Test Rejected:  Benton v. M.N.R. (p.383)

- ailing farmer hires housekeeper
Issue:  can he deduct her salary as a business expense?
- Court says No.

- should've hired someone to run the farm (so he could do the household chores)

  - then the expenses would have been deductible

- NOTE:  he would not have incurred these expenses if he had not been running a farm.
  - couldn't have run the farm otherwise

  - this is a 'BUT FOR' test

- Court rejected this type of 'but for' analysis
  - if we allowed these expenses, we would be eroding the tax base
Child Care Expenses:  Symes v. the Queen (p.385)

- not deductible
- Iacobucci (majority):  technical; L'Heureux-Dubé (dissent):  policy

Food & Beverages:  Scott v. M.N.R.
- foot courier claiming extra food & water as a business expense
- held to be deductible
- this is an exceptional case, as food is generally a personal expense & not deductible
  - we all need nourishment

- the additional amounts he required were held to be deductible, like gasoline for a regular courier's car
Commuting Expenses:  Cumming v. M.N.R. (p.393)

- easier to conceal a personal benefit by working at home
  - that's why the CCRA wants to limit your ability to deduct home office expenses

- seems like a bit of an inflated claim (see p.400).

  - need to assess reasonableness of the expenses
- hard to identify consumption choices vs. legitimate expenses
NOTE:  luxury car expenses capped at a deduction of $30,000 (s.13(7)(g))

Also NOTE:  interest on a loan to buy a car is also capped (~$3000 per year)
Home Office Expenses ~ s.18(12) (p.401)

- happening more & more often; needed to be regulated

- see limits on p.402.  Must be:

  a) taxpayer's principal place of business; OR
  b) used exclusively for business AND on a regular & continuous basis for meeting clients, customers or patients.
- figure out what portion of the house is used as an office, then deduct expenses proportionally
- NOTE:  cannot be used to create a loss.  

  - can only be deducted in the same amount as your revenue 

  - the part you don't claim can be carried forward to offset income in later years
Requirement that Expenses be Reasonable ~ s.67 (p.440)

- s.67.1:  expenses for entertainment/food
  - only 50% of a reasonable amount can be claimed
  - trying to carve out/account for the personal element
  - ways to get around it:


- advertising is 100% deductible

  - think back to the case of Paul's Restaurant...when they ate, was it part of the promotion?


  - advertising is also claimed to counter charitable donations (which are only partially deductible)

  - exceptions if entertainment is your business

- then 100% of your costs will be deductible
  - however, if compensation for services rendered is paid through provision of entertainment & this agreement is reduced to writing, the expenses would be 100% deductible

- requirement that it be in writing was meant to reduce fraud
Roebuck
- a good example of ss.9, 18 & 67 analysis

- partners wanted to restart their business
- threw a big party
Qu1:  was this done to gain or produce income?
  - Court said No.

  - didn't even need to look at reasonableness
Another example:  scrap metal company whose total income was $22,000
- spent $13,000 sponsoring a hockey team
- claimed it was an advertising expense ~ 100% deductible
- Court didn't think it was reasonable:  only $5000 was deductible

Hiring Your Spouse or Children
- another area where s.67 comes into play

- this is a good mechanism for income-splitting, so long as their salaries are reasonable
Costs of Education
- usually deductible by the company
Convention Expenses
- conventions tend to turn into vacations

- generally deductible
- limits are set by s.20(10):

  - not more than two per year
  - location must be consistent with territorial scope/reach of the organisation
Public Policy Considerations
- ss.9 & 18 establish general boundaries for the deductibility of business & property expenses

- neither say anything about denying a deduction for public policy reasons
NOTE:  illegally earned income is definitely taxable
  - this means that reasonable deductions may also be made
  - however, receipts are rarely given for these types of expenses
See Eldridge (1964)

- operated a call girl business
- rent was deductible
- protection payments were not deductible ~ couldn't prove it

  - note:  s.67(5) addresses bribery & corruption

- 1998 saw this exception extended to payments to foreign officials
- buying up of newspapers:  court didn't allow her claim
  - they second-guessed her business judgment
  Qu:  why else would she have bought them?!

Fines & Penalties
- Problem:  if you deduct a fine or penalty, you are in effect sharing the cost with the state/the public.
  - you don't bear the whole cost
Example:  Assume a 50% marginal tax rate, income of $100,000 & a $10,000 fine:

  If not deductible, fine is paid out of after-tax dollars:

Taxable Income
=
$100,000

Apply Tax Rate (50%)
=
[$50,000]

After Tax
=
$50,000

Pay Fine
=
[$10,000]


=
$40,000

  If deductible, fine is paid in pre-tax dollars:

Income
=
$100,000

Taxable Income
=
($100,000 - Fine)


=
($100,000 - $10,000)


=
$90,000

Apply Tax Rate (50%)
=
[$45,000]

After Tax
=
$45,000

- think back to settlement payment in Imperial Oil
- argument for why they should not be deductible:  see quote from Luscoe (1957):

  “It would be preposterous if the appellant company was allowed to deduct a fine and therefore share equally with the public treasury the loss for which it was condemned by its unlawful act.”

See 65302 BC Ltd. v. the Queen
- egg producer produced over quota & was subsequently fined
Issue:  was the fine deductible, or payable from net income?
- 5:2 SCC split

- majority said that the fine was deductible
  - no specific provisions in the Act disallowing them (unlike some other fines/penalties)

  - always remember that they must be incurred to gain or produce income
  - Iacobucci suggests that fines should be increased if we are concerned about costs being shared with the public treasury
  - also admits that certain fines are in respect of conduct that is so egregious that deductibility will be disallowed

- possibly a punitive damages award

- fine paid by corporation in lieu of going to jail may also qualify
- minority's view:  compensatory fines or portions deductible; punitive aspects not deductible
  - in this case, levy was 100% compensatory & totally deductible, in their opinion

Theft, Burglary & Embezzlement
- shoplifting costs can be absorbed by the store:  reflected in their profits

  - revenue available to be taxed decreases
NOTE:  generally prices go up, so technically the tax base has simply shifted, not actually shrunk
Qu:  should we distinguish between shoplifting & embezzlement?
- seems that little thefts are deductible, whereas director fraud is more like a payment as a shareholder
NOTE:  claiming embezzlement losses is bad for corporate image ~ maybe this is why there aren't many cases on this point
Interest Expenses
- s.18(1)(b) limits ability to deduct a capital outlay
  - prohibited because it is a payment on account of capital
- s.20(1)(c) allows for the deduction of interest as a current expense
  - must have been borrowed to gain or produce income
- interest itself does not create something of enduring value (a capital asset).
  - creates a tension...how can this be capital?  IT'S NOT!

- built-in requirement of reasonableness
- creates an incentive to borrow on the part of one's business, rather than individually/ personally
Tennant v. the Queen (1996, SCC) (p.424)

- taxpayer borrowed $1 million to purchase shares
- share price dropped; now only worth $1000
- moved his $1000 to another investment
Issue:  could he still deduct the interest on the $1 million or only on the $1000?
- Court said that he could deduct the interest on the original loan, as the new loan was totally traceable to the previous loan
- if ever only partially traceable, that portion of the original interest may be deducted
- Act was later amended to address this issue:  s.20.1 (see p.425)

  - allowed to deduct interest even after the source of income ceases to exist
NOTE:  Loan must be made for a business purpose.

See The Queen v. Bronfman Trust (1987, SCC)

- loan was taken by trust to pay-out to beneficiary (not an income-generating venture)
- trust's argument:  took out loan to preserve income-earning power of their asset (the trust fund), instead of cashing-in/liquidating their asset & then replenishing it by taking out a loan
- Court didn't buy it.

  - only want to look at the direct use of the money
The Queen v. Attaie
- Attaie immigrated to Canada & bought a house here
- needed to borrow some of the purchase money
- rented it out while going through immigration procedures
  - able to deduct interest payments because this was income from property
- when his foreign money was available, he decided to invest in term deposits because of their more favourable rate (instead of paying off his mortgage)

- deducted his mortgage interest because maintaining his mortgage allowed him to invest in these term deposits
  - not directly related; it was not deductible (not gaining or producing income)
Various Technical Provisions re: Interest
- s.20(2):  loan for part business, part personal uses
  - may deduct interest on the business portion, but not on the personal part
- s.20(3):  allows taxpayer to refinance at lower interest rates
  - refinancing does not render this interest non-deductible
- s.18(2):  addresses interest expenses on real estate purchased for the purposes of speculation (p.440)

  - here, interest would not be deductible
  - however, they may be added to the cost of the land

- other limitations:

  ex. limitations on deducting hobby farm losses

Requirement of Reasonableness ~ s.67 (p.440)

- somewhat redundant...probably not necessary

- s.67.1 addresses food/beverage/entertainment expenses
  - 50% limitation
- s.67.2 & 67.3:  automobiles
- s.67.5:  cannot deduct certain penalties or bribes
Mulder Bros. v. M.N.R. (p.441)

- family operating a trucking/gardening business
- wife (employee) paid a salary of $13,000/year
- Minister reassesses:  limited this deduction to $6000.

  - felt her salary was unreasonably high
- judge allowed $8500 as reasonable in the circumstances
- this creates double-taxation:  company can't deduct it, but she also has to pay individual taxes on it
- nowadays, income-splitting provisions in s.56(2) might attribute this extra income to husband
No. 511 v. M.N.R. (p.442)

- sponsored a baseball team for $22,500
- this was over half of his company's income
- this was held to be unreasonable
- looked at what would be a reasonable expenditure & allowed that amount to be deducted instead
Beauchemin v. M.N.R. (p.444)

- plastic surgeon purchases a 1972 Porsche 911 & a Chevy Blazer.

- wants to deduct them as business expenses
- allowed to deduct 75% of these expenses
Tonn (p.445)

- look at these comments re: second-guessing business judgment of the taxpayer:

  “The tax system...should not discourage, or penalize, honest but erroneous business decisions.  The tax system does not tax on the basis of a taxpayer’s business acumen, with deductions extended to the wise but withheld from the foolish.  Rather, the Act taxes on the basis of the economic situation of the taxpayer - as it is in fact, and not as it should be, subject to what is said below.  It seems to me that for most cases where the department desires to challenge the reasonableness of the taxpayer’s transactions, they need simply refer to section 67...They need not resort to the heavy-handed Moldowan test.  In fact, in many cases, resorting to section 67 may well be more appropriate.”


Capital Expenditures

- need to differentiate between current & capital expenses
  - current expenses are deductible as a business expense in the year they are incurred
  - capital expenses are governed by s.20

- capital cost allowance (CCA)

- eligible capital expenditures (ECE)
- if you had a choice, you'd prefer to characterise expenditures as current 

  - 100% deductible in the year they are incurred
- capital expenses are only deductible over a number of years
  - may not even be 100% deductible
- s.18(1)(b) prohibits the deduction of capital expenses
  - rules which provide for their deduction are in s.20
- we differentiate between them on the basis of a matching principle
  - want benefit to coincide with taxation
Cases on this Distinction
British Insulated & Helsby Cables v. I.R.C. (p.508)

- put a lump sum into an employee pension fund
  - employee satisfaction it created was an enduring benefit
- Criteria/Tests to Apply:

  1.  Capital = once & for all vs. Current = ongoing or yearly.

- taken from Vallambrosa Rubber Co. v. Farmer (p.508)

  2.  Capital = creates an enduring benefit (p.509)

Denison Mines Limited v. M.N.R. (p.510)

- tried to characterise creation of haulageways as a capital, not a current, expense
  - wanted to deduct them over a few years, as the mine had no profit in the first year
- court held that these were current expenses
  - created no new assets ~ they already owned this property

  - no actual cost associated with them ~ simply the ongoing price of extracting the ore

- compared it to goodwill
  - goodwill is an asset, but expenditures incurred to create it are current expenses
Johns-Manville v. the Queen (p.513)

- another mining case, this time concerned with open pit/strip mining (not underground/shaft mining, as in Denison)

- each year the company had to buy land surrounding the pit to maintain a safe grade of slope
- usually land is a capital asset, but in this case the court held it was a current expense
  - there was no enduring benefit/higher value in a larger hold in the ground
- nice explanation of current expenses at the top of p.519:  “these expenditures by the taxpayer were incurred bona fide in the course of its regular day-to-day business operations.  Common sense dictated that these expenditures be made, otherwise the taxpayer’s operations would, of necessity, be closed down.  These expenditures were not part of a plan for the assembly of assets.  Nor did they have any semblance of a once and for all acquisition...[They were] incurred of necessity by the taxpayer in conducting its mining operations according to good business and engineering practice...”
Intangible Assets
ex. goodwill
- as in Fortino's
- buying goodwill is a capital expense
Kellogg v. M.N.R.
- legal action over the tradename 'Shredded Wheat'
Issue:  were the legal fees paid out to defend its rights current or capital expenses?
- held to be current expenses
Canada Starch v. M.N.R.
- no enduring asset was acquired
  - trademark may have enduring value, but its registration does not
- held to be a current expense
NOTE:  If these two cases had held that these were capital expenses, they would not have been deductible under the Act at that time
  - this may help explain the courts' decisions

  - at that time, no 'eligible capital expenditures' were recognised
Dominion Natural Gas
- went to court to protect its franchise/consumer base
- this was a capital expense
- not deductible under the regime in place at that time

NOTE:  Our current Act allows for deductions of capital expenses incurred for intangible assets
Tests For Determining Whether an Outlay is a Capital or Current Expense:
- once & for all vs. recurring
- creation of an enduring benefit
- creation of a tangible asset ~ makes the argument easier (though it is not a requirement)

Repair/Replacement of Capital Assets
Issue:  is this a current or capital expense?
Problem:  large-scale repairs that look more like replacements/capital outlays
- generally, repairs = current; replacement = capital
Canada Steamship Lines Ltd. (p.528)

- repairs to cargoholds = current
  - only a replacement of a very small part of a large capital asset (the ship)

- replacement of boilers = capital
The Queen v. Shabro (p.531)

- basement floor collapses in a rental property
- landlord installed steel piles instead of building the floor the same as before
- court held this was a part-current, part-capital expense
- sent back for a redetermination

Gold Bar Developments v. the Queen
- brick cladding on exterior of building deteriorating; needed to be repaired
- replaced with metal cladding instead of the original brick
Issue:  was this a capital or current expense?
- court tells us to look at the intention of the taxpayer (see p.534:  “What was in the mind of the taxpayer in formulating the decision to spend this money at this time?  Was it to improve the capital asset, to make it different, to make it better?  That kind of decision involves a very important elective component - a choice or option which is not present in the genuine repair crisis.”
  - could be quite troublesome

  - focuses on the 'choice' component

i.e. if you don't have a choice, it is a repair
- in doing repairs, taxpayer need not be limited to old technology
  - can use new technology & still have the expense be characterised as current
Capital Cost Allowance (CCA)
- depreciation = loss in value attributable to use of a capital asset
  - CCRA calls this 'capital cost'
  i.e. Capital Cost Allowance = Depreciation Allowance
- s.18(1)(b) means a separate scheme needed to be set-out elsewhere in the Act
  - not a current expense
- CCA allows for taxpayers to get tax recognition for depreciation of capital assets
- obviously, tax system can't keep track of actual depreciation of every capital asset, so it employs averages instead.
Two Methods of Calculating Depreciation:
  A.  Straight-line method:  p.538:


- “the cost of the asset is allocated evenly over the asset’s useful life”

  B.  Declining-balance method:  p.538:


- “annual amount of depreciation is based on a fixed percentage of the asset’s written down cost [book value] (after taking into account depreciation from previous years).”
Ex. Assume purchase of a capital asset at the cost of $100,000 with a deduction rate of 10%:
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1 

10% of $100,000

$10,000 

2 

10% of $90,000

$9,000 

3 

10% of $81,000

$8,100 


- the declining balance method is used by the income tax system
The Statutory Framework
- deductions for capital cost allowed under s.20
  - creates permission ~ it is permissive, NOT mandatory
  - may be deferred
  - no time limit on deferral, either

 p.539 “The taxpayer may choose to not to claim capital cost allowance in a given year but rather defer its deduction to a subsequent year (although the amount claimed in a year is limited to the percentage of the asset’s written-down cost or ‘undepreciated capital cost’ at the end of that year; the taxpayer cannot ‘double-up’ the amount of CCA claimed by deferring to a later year).”
- s.13 provides definitions & the formula
  - s.13(21):  undepreciated capital cost (UCC) = residual value of the asset (after CCA deductions)
  - for our purposes, use this simplified version:  

UCC = A + B  (E + F)


A = total capital cost of depreciable property acquired

B = total of all recaptures

E = total depreciation claimed

F = proceeds of disposition of all property, up to the lesser of:

  a)  proceeds of disposition of property; or

  b)  initial capital cost of the property (i.e. original cost)
- Regulation 1100 (at p.1538 of the Act) sets out the various rates of depreciation
  - identifies 44 classes of assets
  - contents of these classes set-out by Schedule 2 (p.1926)

  - we don't need to know the specifics, only the way this structure works

- recapture (s.13(1)) & terminal loss (s.20(16)) allow for adjustments when these average estimates of depreciation are too high or too low
  - if average estimated depreciation was too high (i.e. asset did not depreciate as much as expected), the excess (i.e. difference between actual & estimated depreciation) is recaptured into income

- recapture = situation where an asset does not, in reality, depreciate as quickly as it is written off for tax purposes

  - if asset is disposed of for more than the UCC of the class, the excess must be included in income
  - if average was too low (i.e. asset depreciated more than expected), you've suffered a terminal loss & it can be further deducted from income (i.e. where the average has not allowed you to deduct the total amount of actual depreciation)

- terminal loss = situation where an asset actually depreciates at a rate faster than the relevant CCA rate.
- to qualify for this deduction, assets must be used to gain or produce income
  - dictated by Regulation 1102, para 1(c)

  - can also have a change in use (ex. from personal to business)

An Example:
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  - recapture & terminal loss come into play upon the sale of an asset
  What if you sold the asset for $90,000?


- that would create a terminal loss:  $90,250  $90,000 = $250


- terminal losses are deducted from income (s.20(16))


  - deduction in the year of loss is mandatory

  - also deducted from UCC amount
  If you sold this asset for $95,000, then recapture would be $95,000  $90,250 = $4,750


- gets taken back into income
  If asset sold for $110,000, that would be a capital gain

- the asset appreciated; you received more than the initial purchase price

- don't forget about recapture!  You have recapture up to the original sale price.

- beyond that, it is a capital gain

  - UCC = $90,250


  - Subtract lesser of sale price or original cost:  $100,000


  - The difference of $9750 is the amount of overdepreciation claimed (recapture)


  - remaining $10,000 difference between original cost & sale price is a capital gain

- recapture is taxable at the marginal rate; only ½ of capital gain is taxable
- also needs to be added back into UCC (see examples below...)

- remember, all assets in a class are pooled & CCA is calculated for the whole class
CCA for Land?

- generally land does not depreciate
- there is NO CCA for it

- thus, must decide how much of a building's value is attributable to the land
  - basis:  s.68 says that allocations between classes must be reasonable
Example:  Acquire neighbouring property for $100,000

  Land:  $10,000

  Buildings:  $90,000

  - vendor wants building amount  so as to avoid recapture
  - purchaser wants land value  so they might claim a capital gain later

  - creates a presumption, given their contrary interests, that they've arrived at a reasonable compromise.  


- rarely challenged

See Ben's (1955, Exch. Ct.)

- determined that they never intended to gain or produce income from the buildings
- no CCA allowed
The Class Method
Example:

Year 1 ~ Acquire $100,000 building
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Year 2 ~ Acquire a 2nd building for $50,000 (in the same class as the first)
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$95,000 

Add new purchases
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New UCC for the class

$145,000 


So, CCA deduction is:
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The Half-Year Rule
- See Regulation 1100, subs.2

- if you only acquire an asset on December 31st, you shouldn't be able to claim a year's worth of depreciation
- instead, the Act creates this average:

  - only allowed to claim ½ a year's worth in the year the asset is acquired
- must calculate the Notional UCC for that year (see p.540)

Notional UCC =
Year-end UCC otherwise determined ½(acquisitions minus







dispositions in the year)

- for a more complicated example, see p.541

NOTE:  Half-year rule does not explicitly apply to dispositions (except in so far that it applies to NET acquisitions...dispositions are first subtracted from acquisitions)
- thus, if you only have dispositions, the half-year rule does not apply
A Few More Notes on Recapture & Terminal Loss
- terminal losses will only arise when the class is finally empty
  - otherwise they are simply subtracted from other value in their class
- recapture is only recognised when there is a negative UCC at the end of the year
  - can be offset by acquisitions of other assets in that class
NOTE:  Rental properties valued at $50,000+ are each in a class of their own.

  - tax planning opportunities are nixed

- Other concerns:  to claim CCA, asset must be available for use (s.13(26))
- there is case law which discusses the meaning of acquisition
  - bare legal title is not enough.

  - need possession, use & risk
- REMEMBER:  asset must be being used to gain or produce income
Depreciation on Intangible Capital Assets ~ Eligible Capital Expenditures (ECEs)

- prior to 1972, there was no provision for these intangibles
- excluded by s.18
- s.20(1)(b) creates this deduction scheme
- 'Cumulative Eligible Capital' (CEC) is to ECEs as UCC is to CCAs.

- Inclusion Rate:  2/3 of intangible capital is included in the CEC account
  - 2/3 of proceeds of disposition are deducted
- each year, 7% of this account may be deducted
- Amortisation Period:  with one asset in the class, it would take 30 years
- also subject to recapture & terminal loss (here termed 'terminal allowances' ~ s.24(1))

Saskatoon Drug (p.559)

- seems to deal with valuation of goodwill
Qu: does location constitute goodwill?

Royal Trust (p.557)

- engaged a stock broker to sell shares to the public
- broker's commission was included in the CEC; it was an acceptable ECE
- Act has since been amended:  this outlay would now constitute a current expense.

Deductions from Business & Property Income Problems

Susie loved summer people, summer activity, summers by the lake.  Susie owned a small cottage on Lake Winnipeg which she rented to summer tourists.  Each year, with respect to the cottage, Susie had the following disbursements:  interest expense, $2000; maintenance, $2000; electricity, $500; property insurance, $1000.  In 2002, Susie also spent $2000 on the rickety veranda, replacing & strengthening the pine boards and creating a mosquito-proof enclosure.  Susie had purchased the cottage and the land in 2001 for $100,000 ($60,000 for the cottage, the rest allocated to the land).


During the course of the summer of 2002, members of a local gang hung out by the lake in the vicinity of the cottage.  The parties, noise and drinking increased as the summer matured and, not impressed with the situation, Susie offered $2000 to the local sheriff to encourage him to do something about the problem


The problems with the local gangs diminished Susie's love for the lake:  fear and noise were overtaking the bliss of peace and beauty.  In the fall of 2002, Susie decided the cottage thing was no longer pleasant and sold the cottage and the land.

*Assume that cottages are Class 3 assets, with a 5% rate of depreciation.
A)  Explain Susie's tax liability for the 2001 and 2002 taxation years.
- do separate calculations for each of the two years

2001:

  - taxable on profit, which is revenue  expenses (see s.9)

  - revenue = $15,000

  - expenses = current & capital

- current expenses are deductible immediately.  They include:


  - interest:  $2000 (remember:  loan must be to gain/produce income)


  - maintenance:  $2000


  - electricity:  $500


  - insurance:  $1000


 - total current expenses = $5500


- capital expenses:


  - $100,000 for cottage & land


  - only $60,000 for cottage is depreciable


  - $40,000 for land is not a deductible capital expense


  - then look to the class (3) and the rate (5%)


  - use (A + B)  (E + F) where



A = $60,000



B = $0



E = $0



F = $0


  - half-year rule applies.  Can only claim CCA on half (i.e. $30,000 x 5%)


  - end result:  CCA = $1500

  - profit = $15,000  ($5500 + $1500)




= $8000

2002:

  - $2000 payment to sheriff is not deductible under s.67(5) ~ it's a bribe

  - $2000 for veranda:  capital or current?  repair or upgrade?


- provide reasons for both, then pick one & move on


- let's say it's a capital expense

  - current expenses = $5500 (same as above)

  - capital expenses = (A + B)  (E + F), where



A = $60,000 + $2000 = $62,000



B = $0



E = $1500



F = $0

  - Nominal UCC = $60,500

  - Does the half-year rule apply?  Yes, it applies to the veranda, so


$60,500  ($2000 [acquisitions]  $0 [dispositions]) = $59,500 x 5% = $2975

  - profit = $15,000 - ($5500 + $2975)



    = $6525

B)  Explain the tax consequences to Susie of selling the land and the cottage in 2002 for $110,000.

- Calculation of CCA:

  - UCC = ($62,000 + $0)  ($1500 + ?)


- $110,000 = $44,000 for land, $66,000 for cottage


  - same 40/60 split as original purchase


  - this is a logical assumption, but be aware that it is set by the parties; always subject to change


- F = dispositions up to the original value of asset ~ in this case, $60,000

 - UCC = ($62,000 + $0)  ($1500 + $62,000)



   = $62,000  $63,500

  - $1500 difference is recapture ~ needs to be included in income

  - cannot claim a CCA in this year

- Profit = $15,000  $5500



  = $9500 [along with a capital gain]

C)  What difference would it make to Susie, if any, if the cottage were sold in 2002 for $90,000?

- Calculation of CCA:

  - UCC = ($62,000 + $0)  ($1500 + ?)


- $90,000 = $36,000 for land, $54,000 for cottage (same 40/60 split)


- F = lower of proceeds of disposition or original value of asset ~ in this case, $54,000

  - UCC = ($62,000 + $0)  ($1500 + $54,000)




= $62,000  $55,500




= $6500 terminal loss

- Profit = $15,000  $5500  $6500



  = $3000 profit [along with a capital loss]

A Twist:  In 2001, Susie bought same land with 2 cottages each worth $60,000 on it.  Susie bought the land for $200,000.

- $200,000 = $40K (land) + $60K (Cottage #1) + $60K (Cottage #2) + $40K (goodwill)

- goodwill is an ECE
- Susie would have a CEC account including 2/3 of this $40,000 purchase

- she can take a 7% deduction each year, on a declining balance:

  Year 1:  $26,400 x 7% = $1848

  Year 2:  $24,552 x 7% = $1718.64

- CEC is a running account, just like UCC

Capital Gains
- only partially taxable (unlike employment, business & property income)

- taxed in two streams:

  1.  Personal Use Property

ex. principal residence; stamp collections

  2.  General category
- governed by Subdivision C

- historically, capital gains were entirely non-taxable.

  - up until 1972, there was no tax on capital gains
  - not viewed as income from a source
  - obviously, there was a huge incentive to classify revenues as capital gains, rather than business or employment income
- s.3(b) deals with 'net capital gains' (taxable gains offset by allowable losses)
- subs.9 excludes capital gains from property income
- Capital Gain = sold it for more than you paid for it
- Capital Loss = sold it for less than you paid for it
- it's not that capital gains are not taxable; they are just included at a different rate
- losses & gains are only 1/2 taxable (only tax 50% of each)
  - up until February 2000, inclusion rate was 3/4

  - in February 2000, it changed to 2/3

  - in October 2000, it changed to 1/2

  - seemed to be approaching full inclusion; in 2000, we regressed.

- net capital gains are taxed at the taxpayer's marginal rate, along with all his income

Lifetime Capital Gains Exemption
  - formerly had a lifetime capital gains exemption (1987-1994)

  - eliminated in 1994

  - why is this relevant?


- taxpayers who held capital assets in 1994 may have elected to crystallise gains between 1987 & 1994
Capital Gains & Farm Properties
- s.110.6:  capital gains exemption for disposition of certain farm properties
Policy Issues Surrounding Taxation of Capital Gains
- this tax expenditure benefits the rich most (see p.566:  “In the 1992 taxation year, for example, only 4 per cent of all taxpayers filing returns reported capital gains, but...for those whose income was over $250,000 it was 54 per cent.  For the latter group, taxable capital gains accounted for about 17 per cent of their total income.”)

- however, the government does not get a whole lot of money from capital gains (see bottom of p.565:  “In 1992, taxable capital gains...represented only $9 billion, or 1.8 per cent, of the $490 billion total income reported in all federal Canadian tax returns.”)

- Major argument against 100% inclusion of capital gains:  

  - only reflects inflation, not an actual increase in the asset's value
  For example:


A has $20 of employment income


B sells an asset for $40 which was acquired three weeks earlier for $20


C sells an asset for $40 which was acquired 10 years earlier for $20, while the inflation rate = 100%.


- C's ability to pay has not increased; no real gain in wealth


A = taxed on $20


B = taxed on $10


C = taxed on $10


- A & B have the same ability to pay, but B gets preferential treatment


- C's ability to pay has not increased, but is still taxed in the same way as B

  - note that the 50% inclusion rate does not help with this inflation problem

  - accounting for inflation would create further complexity in the Act
- the drop in the inclusion rate means there is a greater incentive for categorising receipts as capital gains
- NOTE:  tax consequences only follow when asset is disposed of
  - this allows for greater tax planning; gives the taxpayer greater control over his taxes

REMEMBER:  Capital gains can only offset by capital losses
Capital Gains vs. Income from Business & Property

- most highly litigated area of tax law

- trying to make a distinction

Issue:  was the taxpayer's activity an adventure in the nature of trade?
- capital gains are generally triggered by a sale

- need to know whether you are in the business of selling capital assets
  - if so, the proceeds of disposition would be business income, not a capital gain

- would receive less favourable tax treatment
- look at definition of business in s.248(1)

  - includes adventures in the nature of trade
- this distinction seems to devolve on the taxpayer's intention
  - may have a number of intentions:


- business

- trading

- personal use

- most problematic:  when there is only one sale (not an ongoing stream of activity)

CCRA's Position
- look at Interpretation Bulletin on p.570.  Factors: 

  - taxpayer's conduct
  - nature of the property
  - taxpayer's intention
  - sale of an income-producing property (assumption:  capital gain)

  - sale of a commodity (assumption:  not an investment, but business income)

  - how long the asset was held
  - how its purchase was financed (personal = capital; loan = business)

  - frequency of commerce (frequent = business; less frequent = capital)

  - did taxpayer attempt to improve the property's value?
Regal Heights Limited v. M.N.R. (p.573)

- bought land with the intention of developing a shopping centre
- never came to fruition...his business idea was foiled
- sold the land for a profit
Issue:  was this profit business income or a capital gain (and thus not taxable at all)?
- court held that this was speculation
  - these profits were income from business & fully taxable
- secondary intention that 'if primary business intention failed, the land would be sold' was enough to characterise this as business instead of capital income
- dissent didn't like this 'secondary intention' idea

Irrigation Industries Limited v. M.N.R. (p.578)

- dormant company awakens to buy shares in a mining company
- borrowed money from the bank to finance this transaction
- loan recalled one month later; sold the shares at a profit
Issue:  was this a capital gain or business income?
  - Was it an adventure in the nature of trade?
- court looked at the nature of the property & the frequency of commerce
  - shares are usually bought as investments

  - this was a one-time deal

- held to be a capital gain
- How did they reach this result, given the finding two years earlier in Regal Heights?

  - seemed to say that secondary intention, absent anything else, was not enough
  - also seemed to rely on the fact that these were mining shares acquired by a farming company ~ outside the scope of their business
  - shares were seen to be investment vehicles

  - NOTE:  later cases have told us that shares are not always investments.


- not enough to override other factors

Conduct of the Taxpayer & Nature of the Asset

M.N.R. v. James A. Taylor
- bought 22 carloads of lead to supply the Canadian subsidiary he worked for.

- profited from the sale to the company

Issue:  were these profits capital or business income?
- court held that this was business income
  - Mr. Taylor had acted like any other metal dealer
  - purchased lead with the intention of selling to his company
  - nature of the asset indicated it was not a long-term investment
- taxpayer tried to argue that he never intended to make a profit
  - court said all that mattered was that he acted like a metal dealer (one who makes his living pursuing these kinds of transactions)
Isolated Transactions
Californian Copper Syndicate v. Harris (1904, Scottish Ct. of Exch.)

- company bought land in USA
- sold the land & received a net gain (though they were paid in shares)
- taxpayer argued:  simply a different form of investment ~ first land, now shares

- Minister argued that this was business income

- court noted that once company bought the land, they did not have enough money to develop it
  - this was speculation
  - income from an adventure in the nature of trade
Objects of a Corporation
Sutton Lumber & Trading Co. Ltd. v. M.N.R. (p.593)

- looked at objects of the corporation (set out in its articles) as they related to these transactions
- here, the company sold timber leases; its primary business was as a saw mill
Issue:  did sale of these timber leases qualify as a capital gain, or was it business income?
- court held that they were not in the business of trading timber leases
- corporate objects set-out & analysed on p.594
- corporate objects are just another factor to consider
A List of the Factors
- nature of the asset
- nature of the transaction:

  - isolated

  - related to an ongoing business (see Atlantic Sugar Company)

- length of ownership
- conduct of the taxpayer

  ex. improvements in marketability = business income

  ex. developing income-producing property = capital gain

- method of financing
- objects of the corporation
- intention of the taxpayer

  - remember that Hogg feels this is the only factor & that the others are just objective indicators of intention
- circumstances of the disposal (ex. bank calls-in the loan)

The Role of The Various Factors
- Hogg believes that these factors are simply objective indicators of a taxpayer's intention
- another line of thinking is that intention is simply one more factor, just like all the rest

  - taxpayer's intention is not determinative
Securities Transactions
- s.39(4) & (6):  Canadian securities may be classified as business or capital
  - does not apply to banks or securities dealers

- why do we have this provision?

  - meant to encourage investment in Canadian corporations
- election is permanent for those shares

- however, the election need not be made until the year of disposition
Foreign Currency Transactions
Shell Canada v. Canada
- foreign exchange gains or losses characterised according to the type of underlying transaction
- note that there is a $200 exemption for foreign exchange gains

Calculation of Capital Gains
- ss.39-55 set-out the scheme

- Formula:
  Capital Gains (CG) = Proceeds of Disposition (PoD)  Adjusted Cost Base (ACB)

  - this calculation is detailed in s.41(a) [gains] & (b) [losses]
- sale is the most common form of disposition
- another form is deemed dispositions:

  Ex. s.70(5):  upon death ~ beneficiary is deemed to have received them for fair market value

  Ex2. s.128.1(4):  upon emigration (i.e. becoming non-resident) ~ deemed to have disposed of all their capital property & then reacquired it again


- creates a new adjusted cost base & a capital gain

  Ex3. Deemed dispositions on change of use:  taxpayer may elect not to realise this change of use

- other forms of dispositions:  gifts or inadequate consideration (see s.69(1)(b))

- s.39(1)(a) defines capital gains
- s.39(1)(b) defines capital losses
- Note that business income/losses are excluded
  - they are not capital property
- eligible capital expenditures are also excluded
An Example:  Taxpayer sells capital property for $10,000.  Asset originally worth $6000.  Expenses of $800 are incurred in selling it.

PoD = $10,000

LESS

  ACB 




= $6000

  Selling Expenses
=   $800







-------------------








= $6800

CG = $10,000 - $6800


  = $3200

Taxable CG = $1600

  - due to 50% inclusion rate, only half the total gain is taxable
- generally, PoD are in the form of money, but may also be things like taking on a mortgage, etc.
- also note, if the item is destroyed but is quickly replaced, no disposition has occurred.

Adjusted Cost Base (ACB)

- it is an 'adjusted' cost base because may be adjusted by s.53
- essentially, ACB is the cost of acquiring the asset
  ex. legal, accounting, valuer or engineering fees

- also includes the work done to improve the asset/increase its value
- in the case of rollovers, recipient of property receives it at it the same ACB as its initial owner
  - all tax consequences are deferred to new owner
  - of course, under s.69, there may be a deemed disposition, however, if it is a true rollover & fair market value is not imported, the ACB remains the same
Capital Gains Prior to 1972
- capital gains were not taxable prior to 1972
- that amount should be excluded
- there are technical provisions which allow you to do this

Rollovers
When They May Occur:

  - between spouses
  - between parents & children for certain family farm properties
  - when a business is incorporated
Effect:  postpones the capital gain & makes it happen to the recipient instead of the donor

- gives the taxpayer more control over their taxes, in terms of timing

Reserves
- where an asset is sold but proceeds are paid over time instead of right away in a lump sum, transferor may use reserves (CCRA recognises that you should not have to face all the tax consequences at once)


Capital Losses

- may only be deducted against capital gains
- may be carried forward indefinitely
An Example:  X invested in land.  Held the land for awhile, then sold 1st parcel (which he initially purchased for $50,000) for $100,000.  Another, purchased for $100,000, he sold for $70,000.

  Parcel 1:


PoD 


 ACB 

= CG or Capital Loss (CL)

$100,000 
 $50,000
= $50,000 CG ($25,000 taxable CG)

  Parcel 2:


$70,000

 $100,000 = $30,000 CL ($15,000 allowable CL)

  Look to s.3(b):  taxable capital gain ($25,000) exceeds allowable capital loss ($15,000)


- thus, $10,000 difference needs to be included in income

Loss Carry-Over Rules
- if the allowable capital losses exceed taxable capital gains, that results in net capital loss, which is governed by s.118's loss carry-over rules.

Personal Use Properties (PUP)

ex. house, yacht, car, collections, jewellery, art

- defined in s.54 (p.252) of Act
- Listed Personal Property:
like coin & stamp collections











they appreciate (this sets them apart)

- NO LOSSES are allowed for personal use property
  - generally these types of property are depreciable
  - these are assets used by the taxpayer

  - these losses are attributable to taxpayer's use of the property
- may claim losses on Listed Personal Property, but only against gain on Listed Personal Property
  - very limited

Principal Residences
- gains on Principal Residences are exempt, but you cannot claim losses on them, either.

Deeming Provision
- de minimis rule set out in s.46(1) = $1000
Example:  Sold an electric guitar in 2001 for $1300.  It was originally purchased for $400 in 1997.

  PoD = $1300

  Actual ACB = $400 

Deemed ACB = $1000

  Actual CG = $900 


Deemed CG = $300

- the deeming provision results in taxpayers having to pay less tax (fewer gains are taxable)
  - contracts losses as well
  - any sale of a PUP under $1000 does not trigger a capital gain
- s.40(2)(g)(ii):  deems losses on personal use property to be nil
Example Involving Listed Personal Property:

  Purchase Price (ACB)
= $500

Deemed ACB = $1000

  Sale Price (PoD) 

= $1100

  CG 






= $100

Listed Personal Property Loss Mobility:

- s.41(2)(b):  may be carried back 3 years & forward 7 years
- however, they may only be used against listed personal property gains
Principal Residences
Formula


[image: image17.wmf]Taxable Gain

=

GoD

_

(GoD x (1 + # of Years Designated as Principal Residence))

# of Years Owned


- GoD = Gain on Disposition
- this formula makes it so that gain only accrues for the time house was designated as a principal residence
- can only have one principal residence in a given year
- also note that this designation need only be done upon disposition
Three Requirements:

  1.  Have to own it
  2.  Only one person may claim it

- this applies to both married persons & cohabitees

  3.  Must be your ordinary residence

- construed fairly liberally

NOTE:  Adjoining land may be included
  - rule of thumb:  ½ hectare
  - legal rule:  needs to be necessary to the enjoyment of your principal residence
- Principal residence may be located outside Canada, so long as the person claiming it is a Canadian resident

Example:  Joe bought a house in 1998 for $50,000

  - sold in 2001 for $70,000

  - difference of $20,000

  - GoD = PoD  ACB
  - here, GoD = $20,000

  - applying the formula:
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Which gives you:  taxable gain = $20,000 - $25,000 => -$5000

  - because it is a negative amount, it is deemed to be nil (see s.257)
  - there is NO taxable gain here
- generally, gains will only be realised if it has not been designated as a principal residence for the whole time it has been owned by the taxpayer
- Remember, if a gain is realised, only ½ of it is taxable (since it is a capital gain)

The Section 3(b) Calculation
- think back to s.3(b).  Here's an example of how to do the calculation...

Assume:

  - Capital Gains = $10,000

  - Capital Losses = $6000

  - Listed Personal Property Gains = $5000

  - Listed Personal Property Losses = $7500

  - Allowable Business Investment Losses (ABILs) = $2000


[image: image19.wmf]Taxable Capital Gain

=

$5000

(excl. LPP)

Taxable Net Gain from LPP

=

$0

$5000

EXCEEDS

The amount by which, if any,

allowable capital losses

(other than LPP) exceeds ABIL

=

=

$3000

_

$2000

$1000

$5000

_

$1000

$4000


Amount Included in Income = $4000

- remember that ABILs are deductible against all sources of income
A Summary of Losses
Three Types:

1.  Capital
2.  Non-Capital
3.  Other
1.  Capital Losses
- net concept; only deductible against capital gains
Includes:

  - losses on personal use property (but these are deemed to be nil)

  - listed personal property losses (but these can only offset LPP gains)

  - business investment losses (carry back 3 years; forward indefinitely)

- we allow losses to be moved around because it helps average taxpayer's income over time; also encourages businesses to take risks
2.  Non-Capital Losses
Includes:  

  - in particular, business, property, office & employment losses
  - ABILs
- may be carried back 3 years or forward 7 years
  - if you cannot claim ABILs in 7 years, they can shift back into capital losses category
- these losses are deductible against all sources of income
3.  Other Losses
- generally arise from farming operations
- may be carried back 3 years and forward 10 years
Three Categories:

1.  For regular farming operations, they are calculated in the same way as any other business

  - simply given a longer period to carry-forward

2.  However, if farm is not taxpayer's primary source of income, losses are capped at $8750
3.  Hobby farms that have no reasonable expectation of profit cannot deduct any losses

The Importance of Characterisation
- obviously, it is important to characterise losses correctly, given their widely varying tax treatment


Other Sources of Income ~ s.56
- Includes things like:

  - pension benefits (taxable upon receipt)

  - death benefits paid by employer to family


- however, if paid to spouse, first $10,000 is exempt

  - support payments (deductible in Subdivision E)

  - retiring allowances (remember Curran?)

  - scholarships & bursaries

  - prizes (though 'prescribed prizes' are exempt)

  - social assistance payments (deducted under Subdivision E)


Subdivision E Deductions
- available to all taxpayers
- not related to any particular source of income
- each is motivated by different policy rationales
Child Care Expenses ~ (s.63)
- deductible by lower income parent, up to a maximum of $7000 per child under the age of 7 or $4000 per child between the ages of 7 & 16.
- child needs to be cared for in Canada by a Canadian resident other than the child's parents or another of the taxpayer's dependants
- s.3(f) was added to prevent an 'end run' around these strict restrictions
  - deems lower-income earning parent’s income to be $0

Moving Expenses ~ s.62
- part personal, part business
- policy:  promotes labour mobility
- s.62(3) addresses what is included:

  - travel costs, meals, lodging, movers, costs of cancelling lease, costs of revising legal records, etc.

Restrictions:

- both old & new residences must be in Canada

- new residence must be at least 40km closer to place of employment

- move must be connected to commencement of employment, business or studies

- cannot exceed your income for the year

- can only be claimed in the year you moved

Charitable Donations

- a tax credit
- offsets tax you would otherwise have to pay
- calculated according to marginal rate
- first $200 = 17%; remainder  = 29%

Restrictions:

- may not claim this credit for an amount greater than 75% of your income for the year

- must be a gift...no strings attached, no consideration

  - no contractual obligation to pay it

- must be to a registered charity

McBurney (p.680)

- made donations to Christian schools that his children were attending

- there was an element of tuition payment in it

- only a portion of it was a gift
Basic Personal Amount ~ s.118(1)(a) & (c)

- sometimes called the 'single' amount
- $7412 multiplied by 16% (the lowest marginal rate)

- $1186 = actual value

- formerly a deduction, which made it worth more to higher income earners

Spousal Amount
- $6923 (actual value = $1108)

- may be claimed for a dependent spouse who has little or no income (less than ~$700)

- if spouse goes out to earn income, this amount is reduced dollar for dollar
Equivalent-to-Spousal Amount
- may only be claimed once per taxpayer
- cannot be claimed for a child if there are two spouses
Education & Tuition Credits ~ s.118.6

- education amount = $400/month (actual value = $64/month)

- only for designated educational institutions

Dependants Under the Age of 18
- no amounts set aside for dependent children
- converted into child tax benefit:  comes in the form of a cheque from the government

  - means tested

- for higher income earners, these dependants are not truly calculated in ability to pay


Review Problem


Jane is a freelance journalist who works for a number of companies including the publishers of the Economist, the Globe & Mail and Flash magazine.  Jane is paid an annual retainer of $1000 by each of the three companies and in addition, she is paid for each manuscript that is accepted.  In addition to the $3000 for retainers last year, she earned $57,000 for her journalistic efforts.


Jane's mode of work varies.  Sometimes she is asked by one of the publishers to pursue a story, other times she will pursue a story on her own initiative.  If a story is accepted, the publisher reimburses her for expenses in accordance with a predetermined tariff (ex. 32 cents per kilometre driven; $80 per hotel room per night).  Often her actual expenses exceed the tariff rates.  She maintains a home office in which she has a word processor, a printer, a fax/copier and a telephone.  All the publishers require manuscripts of stories to be submitted on computer disks.


Jane has been an astute investor over the years.  As a result she has acquired the following assets:


(i)

Shares in Manitoba-based Potato Resources Ltd., current market value $30,000, purchased in 1990 for $10,000;


(ii)
a three-unit rental house purchased in 1999 for $90,000;


(iii)
a taxi business composed of a franchise worth $25,000 together with a taxicab worth $25,000.


A number of events have occurred in Jane's life that may affect her income tax liability.  Advise her of the tax consequences of each of the following on her tax position:

a)  Jane has filed income tax returns in previous years on the basis that her journalism work was business income.  She has been advised that the CCRA intends to consider her an employee.  She is wondering if this change is of any consequence and, if so, whether the CCRA is correct in treating her as an employee.  Advise her.
Business vs. Employment Income:

- she works for a number of different magazines

- control test, etc...Wiebe Door conglomerated these test.

- look at element of risk:  she bears it

- this is likely business income.

Consequences:

- deductions; accounting mechanisms; fiscal period/timing ~ look at s.9
- if she is an employee, look at problem with allowances.

  - may be able to deduct some expenses (travel; home office)

b)  Jane has been taking some criticism from her friends for being what they call a 'slumlord'.  Now she is considering upgrading her rental property or selling it.  She bought the house in 1999 at which time it was in terrible condition; it is still in terrible condition because she has spent virtually nothing on improvements.  Upon purchase in 1999, Jane and the vendor had agreed that the purchase price would be allocated $30,000 to land and $60,000 to the building (a Class 1 - 4% asset).  Actually the land might have been worth more than $30,000 since the building was such a dump.  In 1999, 2000 and 2001 Jane took capital cost allowance on the building; in 2002, the undepreciated capital cost is $57,000.  Jane has an outstanding offer for $105,000.  If she were to upgrade the building she would spend $20,000 on new paint inside and out, new shingles, new floor coverings and flush toilets to replace the outhouse.


Advise Jane of the tax consequences of:


(i)

selling the property in 2002 for $105,000;

Business or Property Income?
Capital Cost Allowance Calculation:

- need to know division between land & buildings (depreciable vs. non-depreciable)

  - assuming land = $35,000 & building = $70,000 and using the (A+B)  (E+F) formula:


A = $60,000


B = $0


E = $3000


F = $60,000


- leads to a $3000 recapture.  Claimed too much depreciation.  


- included in income (see s.13(1))

Calculation of Capital Gain:

Building
CG = PoD 

 (ACB + costs)


  = $70,000  $60,000


  = $10,000

Taxable CG = $5000 (given 50% inclusion rate)

Land
CG = $35,000  $30,000


  = $5000

Taxable CG = $2500

End result:  $3000 extra added to income; $7500 taxable capital gain

Reasonableness of the Allocation between Land & Building


(ii)
refurbishing the property by spending $20,000.

Characterisation Issue:  Repair or Upgrade?
- likely this is an upgrade considering it was in terrible condition to begin with

- if it is a repair, it may be deducted as a current expense against all sources of income

- if it is an upgrade, add to A in the UCC/CCA formula.

c)  Jane is happy with her newly purchased taxicab business.  The previous owner had not made a profit for the three years that he owned the business but Jane is confident that she can do better.  This year, the business grossed $40,000 in revenues.  Her expenses were:

•
$20,000 wages paid to two drivers;

•
$3000 license and insurance premiums;

•
$15,000 gasoline and maintenance;

•
$2000 damages paid to another cab owner with respect to an accident one of her driver's caused (no insurance coverage);

•
$4000 interest on loan to purchase business;

•
$500 paid for speeding fines on behalf of her drivers;

•
$1000 for a Christmas party for the two drivers and herself.

What is Jane's income from the taxi business for this year?  Explain to Jane how the taxi business income will be treated for income tax purposes within the context of her entire income tax situation.

Reasonable Expectation of Profit
- may not qualify as a business

- look at its track record

- see Tonn
  - personal element?

Fines
- see 65302 BC Ltd.:  these are probably deductible

Christmas Party
- not for the purpose of earning income

- reasonableness test

- s.67(5):  only ½ includable

- see IT Bulletin 470R on the website

Calculation of Profit
- Profits = Revenue  Expenses



    = $40,000  Expenses

- Current Expenses = $44,500

- Capital Expenses:

  A.  Taxi:


- $25,000


- Class 16


- 40% + half-year rule => $5000

  B.  Franchise


- ECE


- may deduct 7%

- this business has a loss of at least $10,000

- may offset other income/be deducted against any source of income

d)  Jane believes that she pays too much in income taxes.  She is particularly incensed given that her common-law husband, Carl, an aspiring intellectual who has yet to be gainfully employed, pays virtually no tax at all.  Jane hopes that a little tax planning might help reduce her tax burden.  Advise Jane on this possibility.
Attribution
- might try to transfer the taxi business or the rental property to Carl

- creates problems with the attribution rules

  - would likely be attributed back to her

Employment Options
- she could employ him (as a maintenance man, taxicab driver, secretary)

- deduct his salary as a business expense, so long as it is reasonable (Mulder Bros.) and he actually does the work

- would also need to withhold payroll taxes & remit them to CCRA

e)  How will the shares in Potato Resources be treated for the purposes of determining Jane's section 3 income?

- No capital gain realised until disposition.
f)  Jane and her common-law husband have two children, Jack, age 2 and Jill, age 3.  Although Carl remains close to home during the day, they decided to place the children in daycare and incurred expenses of $1000/month.  Advise Jane on the deductibility of the child care expenses and how they will be treated in the context of her entire income.
- deducted from lower income earning parent (here, Carl ~ income = $0)

- therefore, the child care credit is of no benefit to them


Exam Info

- check out the sample exam on the website

- we will have 2 long problems and some short answer questions

- bring your calculator

- 50 marks for 2 problems

  - 1 long one like the Jane problem, above

  - 1 shorter one

- 30 marks for 5 or 6 short answer questions

  - will have a choice of 10 or so


TAXATION OF INTERMEDIARIES

Trusts
Four Categories:

1.  Testamentary

2.  Inter Vivos
3.  Personal (no consideration)

4.  Commercial

- trusts are taxed as individuals (s.104(2))

- main issue:  residency
  - test:  residency of the trustees
- testamentary trusts taxed under the same progressive marginal rate scheme
- inter vivos trusts are subject to a flat tax, basically equal to the highest marginal rate

- funds only taxed once:  either in the hands of trust or beneficiary, not both

IMPORTANT:  deemed disposition every 21 years

Partnerships
- not defined in the Act
- instead, apply the relevant provincial statute

- common law test:

  1.  Relationship between two or more persons

  2.  Carrying on a business in common

  3.  With a view to profit

- partners, not the partnership, are subject to tax
- see s.96(1) for rules on calculating each partner's share

- anti-avoidance rule:  s.103 ~ CCRA may reapportion shares if unreasonable or where the primary purpose of apportionment is tax avoidance
- limited partnerships are subject to separate, complicated rules

Corporations
- the primary form of business in Canada is the corporation
Three Categories
1.  Private

2.  Public (shares traded publicly)

3.  CCPC (Canadian-controlled private corporations)

  - control:  look at both de jure & de facto control

- corporations are taxpayers; taxed just like an individual
- s.123 sets out basic corporate tax rate:  

  - 38%

  - 4% surtax (not paid if also subject to capital tax)

  - minus 10% provincial abatement (10% meant to be like an average)

  - net federal tax:  ~23%

  - provincial rates vary from 4% - 17%

- also subject to a capital tax (mainly catches large companies with capital assets in excess of $10 million)

- there are many credits available only to corporations

- s.125(7):  active business income deduction 

  - allows a 16% deduction, to a maximum of $200,000 within a CCPC

  - may be increased to include a 7% deduction for amounts between $200,000 and $300,000

- after $200,000 it is advantageous to dole out bonuses/dividends to the owner/operators.

  - in practice, not challenged by the CCRA

- certain exceptions also need to be noted

When to Think of Tax Consequences...

1.  Setting-up a business

2.  Corporate financing

3.  Questions of remuneration (i.e. salary/benefits/dividends)

4.  Mergers/acquisitions

5.  Commercial real estate

  - s.13(21.1):  erases terminal loss on building if there has been a gain on the land

  - limits on losses to be claimed on rental properties

  - careful when dealing with non-residents

6.  Family law

7.  Employment law

8.  Entertainment & sports law

9.  Civil litigation & structure of settlements

10.  Criminal law

  - s.152(4):  net worth assessments


- employed by CCRA after an individual has been convicted of a crime that may involve additional, unreported taxable income

Exam Review Session

- ECE = tangible but enduring asset

  ex. goodwill

Problem on p.545: (a)

Year 1:
(A + B)  (E + F)




($100,000 + $0) ($0 + $0)




$100,000

Notional UCC
= $100,000 ½($100,000)






= $50,000

  = $50,000 x 4% = $2000 CCA

Year 1:  able to deduct $2000 CCA

  - have $98,000 left at end of Year 1

Year 2:
(A + B)  (E + F)




($100,000 + $0)  ($2000 + $0)




$98,000

  = $98,000 (amount you can take CCA on) x 4% = $3920 CCA for Year 2

  - at end of Year 2, you have $98,000  $3920 = $94,080 (carry this amount into Year 3)

Year 3:
(A + B)  (E + F)




($100,000 + $0)  ($5920 + $80,000)

  - $5920 is all the CCA deducted in Years 1 & 2

  - $80,000 = Proceeds of Disposition




= $14,080

  - she didn’t take in enough deductions during time she owned asset


- entitled to more deductions

  - the $14,080 will be a terminal loss


- becomes a deduction in calculating net profit from the property/business


- deduct against income from running the building


- if sufficient income, she should deduct the whole loss


- if not, it becomes an operating loss

  - can offset business loss against employment income

(b)  X acquired another Class 1 building at a cost of $50,000 in Year 3


(i.e. sold one building and acquired another one)

  (A + B)  (E + F)

  ($150,000 + $0)  ($5920 + $80,000)

  - the $150,000 is because there are now two assets in the class:


- original asset worth $100,000


- new asset worth $50,000

  - now apply the half-year rule:


Notional UCC =
$64,080  ½(acquisitions  dispositions)








$64,080  ½($50,000  $80,000)


- do not apply the half-year rule if number is negative


  i.e. if dispositions exceed acquisitions








= $64,080 x 4%








= $2563.20


- she would be able to take a CCA of $2563.20

  - If dispositions do not exceed acquisitions 

  i.e.  $200,000  ($5920  $80,000)


- then apply the half-year rule:


Notional UCC =
$114,080  ½($100,000  $80,000)








$114,080  $10,000








$104,080


- take CCA on $104,080

(c) Building destroyed by a flood rather than being sold

  - X no longer has her building

  - X has a disposition even if building is destroyed by an Act of God

  - Proceeds of disposition = $0

  - Acquired building for $100,000


- she has a loss


($100,000 + $0)  ($5920 + $0)


loss = -$94,080

  - once asset is disposed of, not dealing with ongoing depreciation


- the CCA is associated with the maintenance of a depreciable asset

  - see s.39(b):  capital losses do not apply to depreciable property






i.e. losses on depreciable property are dealt with as terminal losses, not






  capital losses

(d) What happens when she disposes of property to her husband?

  - s.69:  deals with non-arm’s length transactions where inadequate consideration has passed


- deemed to be a disposition at fair market value

  - see s.248 for a definition of “non-arm’s length”

(e) Gave it to brother

  - brother related ~ non-arm’s length

  - $50,000 was inadequate

  - same tax consequences
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